HYDRAULIC
VALVES

INILD'



SDELRHZZS A X Lz MED RS O ZHIERH T S W

HMEALDFERAERII NNV T Z DS ODOWROM L2 ER L, O EEZRL I T Zo0f X

B 1ROV TITRD, S5 FE 287 e E 5o,

B EZOYRIZHAMLSELNCHE D Z2HT S

FEHE SV 7 TR EA TR, B2V 7 1TEICH, Mo d SN2 EVAATEY I3, BZn
HERE - T B OND S O KRR 2B LE Lz, ST EI2Y ) — %ML Tw b
Ky VAT LIEE RNV T R EEISSHEAWZE T, MEERSMOME T T Db WIEiEETER &

L CBEIL T2 UEENTT,

BRHASEEERICOVTDER

COH T OB FEEIZIY ) e, L9 MREEMOTERHIE 2 BRAIC R D WICEEZH—

WEZTHEBZOF->TLEE Y, (@ZnHhsyurs

WIEHA.)

L OEEHEHB LB IETOY a2 MEL T

HRFHR NG P2 T 5 720 [ IARTEEFIE L X BB ORI 2 EHEZ L3 F o TS v,

ZELDER
(R BEROER
O/ \BE HEREOREEREANTCTEA EEL,

@/I\FE {EERIE—MRIHRIEERHZE SERALET L,
CDAYOTDETIVF VINIE—RRELHRES M %
CERADBEZERULET,
fEERDY VBT AT LR IEEHDIESE. OV Y
IMEMEHR (3voFdL) [CIEDEXEITDT. EF
WFHVINDEEIC TF—] ZfFUTTEELIEE LY,
{ESROKRRTAEEMDIZES &, EFILESDEEIC
[W—] ZFUTTERELREEL),
ZDMOEHZ CERINDBSIFHT T THH

LabELEEL,
@Aﬁi% EERIFRICESR CBRE 1 N A SRIRLA) (TR
2TLIEEL,

@Zl&% {EEDHIF A EEEE —15C~80C T TEA LY,
LEEREREN T TREATN S BEF LT THH
WabE <L,
LECSEMARENANTREASNSEYH. ARHE
ENREUVEASHICOBDZBNDG DT,

@F =MD RS FDEEHIR

@O/I\FE ROES. (EEERBICLOTIF. FEHRARDEE
BHEDITBDIENHDIRITDT. 1EETEICTSD

ERLTIREL,

®Z&&% RICFOTD. MLVED, BELED. HNEMZ
Db ULBWTL EEl, {FBRE, B8, HRN
EERBTITENBDET.

®/\EB HORICHE LRSI TR T
Vo BREEELRD, IROTIHETZBNN
BOFT,

OHBDE DT, EDOH UIERKDEESIA

@/I\EE HEBOMIBHISUTREDRIL SEERL. 3
ED MLITHODF T REW, BENOBRD fH
3% B EAEERER. BB, HRNEEITTEN
BOFTOTERLTL L

®/\#8 RUERRENTOAEEURRE—BEETHS

ERLTREL,

0/ \18 RUEREBLUTISY UERRE. BEO €
b [CKDRMBCRLFHED, HHSBFENESIC
EBUTLREL,

@/\ B UL TOEER— N, EEENRESEELL

BIELT< RS,

®/|\ 28 BNRRUSBEOBEIRHCEAZS Y - OU
> B ERDFREERL TS,

©/\mE RoRTER. BE, TH RO UEORES
&, IR UBBADEERLICRI T 5

7o TLIEELY,

@AE%‘\ WOMHF. BOAUL. EEEFEDIEREIF. FPIHE
DHBFDHTEOTLIEE L,

Aii,’%f BN, BAEZEERIFIREIC LT ZEW, RIb
POFEHDIIAR. Y—IVBIEICKD. IR, HF

NEEZRIIINHHDXT,
(A EELRSDERFEIR

O/ \BE mE (®E WEN) FRELLIARESCER
ZEIEL, BEFMEEHEL TSV, B X
. FHEEDBNSBOET,

®/\i2B HEHE. WSS, HOIKE BN
A CREA LBV T &L,

9/\it& (FEASEEENERAL. SRECERECEE
LTLREV, {EBFE, WEOBNABOFT.

@/\i2B BRREBECKIDEAT DL, ROBROE
BOFRTOT, WYV ID KU VREEERNICT
SHEBYLUBE LT RE,

C[lﬁ% I\ RIVEER AR DENBE TRIECED L SIC
BEENTVETDOT, BEIL/\—B%THEA LY
nelrEEL,

OIRST - RELDFEEE
O/N\EE ROMEF. HEXCULEVWTLREEL,

®/|\EE AEFOE AR WHELELENTILEX,
B S ERETET, MECHROREHE
BOET, POEETHE. BIBELEIT AR
SPIEDB B HITE > T E e XHHE. 18
HELOIERRESFLHFTTRRAD L. +513
BUIEELTTEL

®/\ix& #EEH RETSHAL. AEEE. BEEEHR
BRI, B, PR T RS,

@/|\ 2B AERBRERICERTBBACE. U—ED5
RENBEETZHENBDET.



Before you use the product, you MUST read the instruction manual and MUST fully understand how to

use the product.

To use the product safely, you MUST carefully read all Warnings and Cautions in this manual.

You

MUST also observe the related regulations and rules regarding safety.

SAFETY PRECAUTIONS

(1) Precautions in selecting valve type

1) A WARNING Use the valve at maximum operating pressure or below.

2) A CAUTION Use general mineral oil series hydraulic oil. The valve model No.
described in this catalogue is subject to use of general mineral series
hydraulic oil.

When phosphoric ester series hydraulic oil is used, O-ring of special
material (FKM) must be used. In this case, prefix"F-"to the selected
model number in designating the hydraulic oil. When Water

based hydraulic oils (water glycol type or emulsified type hydraulic
oils) is used,In this case,prefix"W-"to the selected model number in
designating the hydraulic oil. Contact us for use of other different
hydraulic oil.

3) A CAUTION

4) A CAUTION

Keep hydraulic oil clean (cleanliness:NAS Grade 12 or below).

Use hydraulic oil at ambient temperature ranging from-15 deg.C to
80 deg.C. Contact us for the use at temperature beyond the above
temperature range.

Using the valve out of conditions instructed above could result in
mechanical and/or physical damage, leading to a serious accident.

(2) Valve handling precautions

1) CAUTION Valve handling could result in hand entanglement and/or a pain in
the waist, depending on valve weight and/or the working attitude.
Handle it with good care.

2) A CAUTION

3) A CAUTION
observe this precaution could result in dropping a product in carrying

or bodily injury by slip.

(3) Valve mounting/demounting precautions

Avoid stepping on, hammering or dropping the valves. Do not apply
external force to the valve. Failure to observe this precaution could
result in malfunction, damage, oil leakage, etc.

Wipe off hydraulic oil adhering to the valve or to the floor. Failure to

1) A CAUTION

2) A CAUTION
3) A CAUTION

In mounting the valve, use specific bolts and tighten them with
specific tightening torque. Failure to observe this precaution could
result in malfunction, damage and/or oil leakage.

Check thread matching between valve and pipe before using the

velves of the screwed joint type piping system.

When using the screwed joint type and the flanged joint type valves,
connect these valves with good care so that pipe abutting on the
body can give no unnecessary load to the valve body.

4) A WARNING Connect the valve connection port with a specific pipeline.

5) A CAUTION When mounting the valve or re-assembling it after overhauling,
replace the present gasket and O-ring with new ones of same
material.

6) WARNING Before maintaining, checking, conditioning, replacing or demounting
the valve, stop the operation and completely purge hydraulic
pressure out of the pipeline(circuit).

7) A CAUTION Perform mounting,demounting or piping by qualified personnel.

8) A CAUTION Clean the mounting holes and surface. If they are stained,valve
breakage and/or oil leakage would be caused due to imperfect
tightening of flange bolts and/or seal damage.

(4) Operating precautions

1) WARNING [f any trouble(abnormal noise, oil leakage, etc.)happens with the
valve, stop the operation immediately and take necessary action.
Failure to observe this precaution could result in damage, fire, or
injury.

2) A CAUTION Do not use any valve for application other than specified in the
relevant drawing, instruction manual or catalogue.

3) A CAUTION Use a proper hydraulic oil and control the degree of its
contamination according to the recommended value. Failure to
observe this precaution could result in malfunction or damage.

4) A CAUTION Water content in petroleum base hydraulic oil, if contained therein,
would shorten the valve’s life. Periodically drain hydraulic oil out of
the oil tank to refill new oil.

5) A CAUTION The hand wheel is designed so that it can be operated within the
specified pressure range. Do not use an auxiliary lever or the like
to operate the hand wheel.

(5) Precautions for maintenance and storage

1) A WARNING Avoid random modification of the valves.

2) A CAUTION

Avoid overhauling and re-assembling the valve without our
permission. After re-assembling, the valve would be unable to fulfill
its speciftic performance, causing trouble and accident. When the
valve has to be inevitably overhauled and re-assembled, do that by
qualified personnel. Before overhauling and re-assembling, contact
us for confirmation and full understanding of the precautions to be
observed.

3) A CAUTION
4) A CAUTION

When carrying and storing the valves, apply dust and rust preventive
treatments to them, with good attention to the environmental
conditions such as ambient temperature and humidity, etc.

When using the valves after a long-term storage, the seals must be
replaced with new ones, depending on actual seal condition.



& &

8 EFLFYN PREEED gy pERR N—Y
HG-4211-%3%-23 8, 10,20, 32, 50,80 3
HGF-4211-3%3%-23-3% 3%¢F 3 10,20, 32,50 5
HGL-4211-3%3%-23-F % 2l 10,20, 32,50, 80 H2Hrvk|l 6
HGH-4211-3%%-23 10,20, 32 8
HG,HGD-4350-% 3%-23 35 10,20,32,50,80 9
HF-4211-3%%-23 <& 10.15.20.40,50 _

o [HR4e kK24 26,32 Y
No.1 | AT NIV D 21

HT-4211-3%%-23 8,10, 15,20 |12
HT-4211-3% 5%-24 25,32 RU R
HF-4353-3% %-23 10, 16,20 5
HF-4353-% %-22 3 25,32,40,50, 65, 80 e 15
HT-1211-%%-23 o1 (51918202852 g U | 17
HFS-1211-3%%-23 Sye0ne 15359y 17
HF-1280-3 %11 28 |40 |25V y| 19
HG-82 10-3% %-23 10,20 21
o B B Y HGB210-0x-22 EX AATVE
ARYTNIT | HE.8210-3% %24 19. 15.20,25,52,40 55V 23
HT-8210-%3%-23 10, 15,20 RUES 24
HG-9210-3%3%-23(24) 10,20, 32 “ 5
No3| B Y HE-9210-x024 o1 |30 ARTYE o,
HF-9210-3%3%-23 19 5:80.25.32.40 | 5 5, 7| 29
HG-6211-3%3%-25 10,20 ) 31
Nod | 2, E % J HG621 1524 21 |32 AATYE o

HF-6211-5%-25 03088 75> 3334
HGZ-ACC-% %X 10-24 30 20,32 Va5-F| 37

No.5 ;*JAD_;’; HF-ACC-3% %X 10-23 21 | 10,20,32,40,50 -5y 9(38~40
HAG- 3% 3% X 10-F 3¢ 25 10,20,32,40 H2Arwk| 47
No | 5= | 21 |81 RUEM| 43
GV-G22G 21 8 HRTwk| 43
NoT| By gy DT P AU
GD-%03 10 44
GNT-3% 3 8,10, 15 sl 45
No.8 | Z—KJIUNIVT | GNT-3%3%-L 35 8,10, 15 AU 45
GNG-02 8 HR7wk| 45
Nod | Frvh NI HGC-4211-%3%-23 o1 10,20, 32,50 jj‘yij\ 47
HFC-4211-3%¢ 3k 101520253240 |55, 9] 49

No.10| KOBRMy 7NV T | HF-4213-51¢ %% 23 21 ] 100, 125,150 55>y 51 |

HF-4211-3%3%-23-AS'1 5502 18:20.26.32.40 | 5 5 v, o 52
No1| 27 Y AR g 4211523 A1 21 | 810203250 b okl 53
HT-1211-%%-23-AS1 8,10, 15,20,25 HUER 54

XADIOV FIBHNDBBRET 2BBlcL Y, FELGWETENDZENBYET,
HIOTEIMBLERICCATNO. Z258E L THYF T, BB EFDIRICIE, RITMTH DD BHE TITHEIBEZSL),



CONTENTS

Breed Model No. Max,Wlo\r/klmlgzessure Size Coupling Type| Page
HG-4211-%%-23 8, 10,20, 32,50, 80 3
HGF-4211-3%3%-23-3% 3¢ F 3 o 10,20, 32,50 5
HGL-4211-3% %-23-F % 10,20, 32,50, 80 (Gasket S
HGH-4211-3%¢%-23 10,20,32 8
HG,HGD-4350-3% %-23 35 10, 20,32, 50,80 9
HF-4211-3%%-23 6,49 1204050 1

‘ Flange
HF-4211-3¢%-24 25,32 (i

No.1 | Stop Valves 21
HT-4211-%3%-23 8,10, 15,20 12
Threaded

HT-4211-%%-24 25,32 12
HF-4353-3%%-23 10.15,20 15

35 Flange
HF-4363-% %-22 25,32, 40,50, 65,80 15
HT-1211-33%-23 o1 2509 19:20:28.32 I Threaded | 17
HFS-1211-3%%-23 1015202532 | Flange | 17
HF-1280-3%3%-11 28 | 810 fe0 e Flange | 19
HG-8210-3%3%-23 10,20 Gasket 2
\op| Throttle |HC-8210-0%-22 SN A PY

0.

Stop Valves | HF-8210-x %-24 49 4250 °> 320 Flange | 23
HT-8210-3%3%-23 10,15,20 Threaded| 24
Throttle Stop HG-9210-%%-23(24) D Gasket 27
No.3 | Valves With |HG-9210-% %-24 21 324,50 27

Check  [HF-9210-%%-23 194553253240 | Fange | 29
HG-6211-%3%-25 10,20 Gasket 31

Check o aske

No.4 Stop Valves HG-6211-%3%-24 21 32,50, 31
HF-6211-3%%-25 518, 15.20.25,82 Flange | 33,34
HGZ-ACC-3% %X 10-24 30 20,32 Modular | 37
Accumulator o
No.5 Stop Valves HF-ACC-3% %X 10-23 21 10,20, 32, 40,50 Flange |38~40
HAG-3% %X 10-F % 2b 10,20,32,40 (Gasket 4
IO 8,10
No6 | Gauge Valves GV-3% %% 21 Threaded| 43
GV-G22G 21 8 Gasket 43
Damper For | GD-3¢3¢3%-T 8,10 a4
No.7 Pressure Gauge | Gpx 03 21 o Threaded 42
GNT-3 3% 8,10, 15 Threaded 45
reade
No.8 | Needle Valves | GNT-33%-L 35 8,10, 15 45
GNG-02 8 Gasket 45
-4211-%3%-2 10,20, 32,50
No.9 | Check Valves HGC-4211 ik 3 o1 - Gasket 47
HFC-4211-3% 3% 50.65.80 " Flange 49
INo.10| Stop Valves | HF-4213-3x3-23 21 | 100,125,150 Flange | 51 |
HF-4211-3¢3%-23-AS 1 5510 18:20.26.32.40 | Flange | 52
Stainless Steel o
No.11 Stop Valves HG-4211-3%3%-23-AS 1 21 8,10,20,32,50 Gasket 53
HT-1211-3%3%-23-AS" 8,10, 15,20,25 Threaded| 54

X Materials and specifications are subject to change without manufacture's obligation.




I NO.1 BRI I
Gasket Type Stop Valves

U 8", 10", 20", 32~ 50*, 80"
Size

EFVFVN

Model No. HG—-4211

HEEES =3 {+4% Standard Specifications
Symbol
=eERED
N Max.Working Pressure 21MPa

JUVTEASTAMRIL b OU VI IFMBRULET,

ANABEICRELLEHATERT,

U5 A VEBREEETRDEBAEIE. ETILF /U 'HGD-4211" £EDFET,
ReEAENEMPaEFERDBSE. EFILFVIN "HGZ-4211" ZHEEE ML,
Mounting bolts & O-ring included.

Either port of the stop valve can be used as inlet or outlet.

Spheroidal graphite iron castings - - - Model number is "HGD-4211" .
Max. working pressure of 25 MPa - - - Model number is "HGZ-4211" .

HG—4211—8—34 &£ Mass :1.4kg HG—4211—10,10J,20—23

#56

P18 18 E
N MBX55 4%
Yzb5 P111f 2|9
Lift w2
0§ [mi
bl
P152f8 3 ?
——

4-p93L
Holes

FUREI20BE
In case of 32A
_uzk

Lift

2-M10R&18
T ARV R

A °
— 00"
== o Do 4
WIS &
In case of 32A L5 .
4-ghiEil 90 6-42638L
Holes L 155 ] Holes
220 12
270
B ft < & Mounting Dimensions gll. Ogyﬂdﬁgﬁ% MEE
EFILFUN N -Ring Size lass
102U bk Bolt ~f
el N MLk Bo f (JIS B 2401)
A B = F G K L N | P | P-| h |BUT4Size8Nol D | Dy | D=| S T W | H |126A|126B | 126C | 126D | 126E |(kg)
HG-4211-10-23 85| 70 | 65 50 | 465] 25 | 185 | 465| 10 10 9 |M8X 45| 4 22 9110 13133 8 80 146 | P18 625 | P10 P21 - 24
HG-4211-10J-23 | 80 | 68 | 603 | 476| 423| 238| 127 | 476| 99 | 102| 11 |M10X 60| 4 28 1 14| 14 ] 16 | 46 8 80 | 151 | P22A | G25 | P10 P21 - 26
HG-4211-20-23 | 113 | 97 | 81 65 | 538| 325 128 | 588| 16 16 | 175 | M16X 60| 4 | 35 | 16| 16 | 17 | 44 | 10 | 120 |2005| G30 | G35 | P125 | G256 - 54
HG-4211-32-23 | 127 | 127 | %2 R |46 | 46 | 206 | M4 175 ] 175 215 | M20X100| 4 45 130 | 30 | 29 | 72 | 10 | 140 |259 | G40 G50 | P32 P16 | G3b6 |13
HG-4211-50-23 | 180 | 160 {140 [120 | 82 | 60 |30 |110 |20 20 |24 |M22x120| 4 65 | 48 | 48 | 31 | 90 | 17 | 200 |327 | G6O 67 | P48 P20 | G40 |27

3



O
Pressure Drop Property Chart

ST FEE32mme/sICHIF DIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

HG—4211—8—34 HG—4211—32—23
1.0 1.0
0.9 9
L 08 208
@ 2 0.7 o © 0.7
906 206
% 505 % 505
204 2 0.4
.H
He o, HEos
MPa 0.2 MPa 0.2
0.1 — 0.1
0 10 20 30 40 50 60 70 80 0 100 200 300 400 500 600 700 800
& 2 L/min & 2 LUmin
Flow Rate Flow Rate
HG—4211—10—23 HG—4211—50—23
1.0 1.0
0.9 0.9
o 08 o 08
@907 @ 907
906 =206
%‘ 505 % 505
o 0.4 o 0.4
B O3 B e o3
MPa 0.2 MPa 0.2
0.1 0.1
0 10 20 30 40 50 60 70 80 90 100 0 500 1000 1500 2000 2500
& 2 Lmin & 2 LUmin
Flow Rate Flow Rate
HG—4211—10J—23 HG—4211—80—23
1.0 1.0
0.9 0.9
0.8 0.8
@ £07 @ £07
S 06 206
% 505 % 505
» 0.4 @ 0.4
ME03 Heos
MPa 0.2 MPa 0.2
0.1 — 0.1 —
0 10 20 30 40 50 60 70 80 90 100 110 120 0 1000 2000 3000 4000 5000 6000
& 2 L/min & 2 Lmin
Flow Rate Flow Rate
£ =
(REALEMLZIRE)
HG—4211—20—23 Closing Torque Characteristic Curve
70
'% 60 80
1.0 s -
0.9 850
0.8 5
Q.
@507 G40
=206 3 <\ 50
¢ 505 & 839
R 204 =2 32
H o n + o ¥
& 0. H 20 20
MPa 0.2 ?E 8 |_—
0.1 o —— T2 810
. N-m 10 — Y
0 50 100 150 200 250 300 =
#h_8 Limin 0 5 10 15 2021
Flow Rate E 51 MPa
Pressure




VOB HRATwy MERXR by ITINILT
Gasket Type Stop Valves

U 104 204 32% 50" EFIFVIC
Lot 4 HGF—4211
Model No.

HMERES Z 5+ 4% Standard Specifications
Symbol

EeERAEN
‘N_ M:;;Vjorking Pressure 21MPa

¥ JULTESAMRIL b OUVJIEMBEHULET.
% IS VIFURKRUTARLSA, SSAE)Zin FHEliER TS,

% Mounting bolts & O-ring included.
% Please consult us for type of flange is LSA or SSA.

HGF—4211—10,20—23— 3¢ 3 F % HGF—4211—32,50—23— 3¢ 3¢ F ¢
J i
z L H Flel ncaseoloeA
E “ 20 ] N = } N |
ﬁ C g - o CB N
Y ; |
== A s
i o
4-ghiliL =~ EFNFUIKR - RFUDEE
4-ghiil AR08 Holes - In Gase of end of model umber s’ —##FL
Holes In case of end of model number is. —FL
@ S % @f;
) @
GRS OO
0B
LA
EFNF KR —HHFSDBE EFNFUISKR = EFSDBE
In case of end of model number is” —3# FS In case of end of model number is” —3#FS
T s : - -
EFILF YN 2z B f& < & Mounting Dimensions
Vodel No 1 102A7L k Bolt
) D D, D» Q H S U V W M N h [FOH% Size | # No.
HGF-4211-10-23-10FL
HGF-4211-10-23-10FS
HGF-4211-10-23-15FL 22 9 125 55 152 R 8 15 61 80 48 %4 14 M12x 75 4
HGF-4211-10-23-15FS
HGF-4211-20-23-20FL
HGF-4211-20-23-20FS
HGE-4211-20-03-95FL 3 16 20 7% 201 43 10 15 81 120 56 82 14 M12x 95 4
HGF-4211-20-23-25FS
HGF-4211-32-23-32FL
HGF-4211-32-23-32FS
HGF-4271-32-2340FL 45 R R 85 239 55 10 20 110 140 73 105 175 M16X 130 4
HGF-4211-32-23-40FS
HGF-4211-50-23-50FL
HOF 4511 2055 505 8 B | w5 | % 306 ] 1 Kl Rt | a0 | o | e |2 118X 150 4
_ . 7 S5 ¥ ¥ Flange OUYIHUES g
P 0O-Ring Si
El\?l—o)c:/elj-Nz a 10287 ~ Bolt QS B2a01) iz
) d A B C E F G K J T L |FUSI Size [# No. | 126A[126B|126C|126D|126E| 126F| (k)
HGF-4211-10-23-10FL 125 63 28 8 9 20 36 40 | 2635 M10X 55 44
HGF-4211-10-23-10FS ' - ' - - 21 - M10X 35 39
HGF-4211-10-23-15FL I o % 63 P 29 " 20 36 40 | 2415 M10X 55 ¢ PIB | 6% | P10 Pl 6% 44
HGF-4211-10-23-15FS - ’ - - 21 - M10X 35 39
HGF-4211-20-23-20FL 2 82 3 279 " 25 48 50 | 264 M12X 70 74
HGF-4211-20-23-20FS - ) - - 27 - M12X 45 6.7
4 | —
HGF-4211-20-23-25FL % % “ 82 %5 35 u 25 48 50 |23 M12x 70 60 6% | P12 | G5 | 63 79
HGF-4211-20-23-25FS - ) - - 27 - M12X 45 72
HGF-4211-32-23-32FL 315 110 5 132 i ) 64 il 29.15 M16X 95 16.7
HGF -4211-32-23-32F5 w | s - - =% = e | oy a0l eo e | pis | o3 | e |42
HGF-4211-32-23-40FL 05 110 63 191 8 35 64 il 262 M16X 95 165
HGF-4211-32-23-40FS ) - ) - - 3b - M16X 60 141
HGF-4211-50-23-50FL 125 25 7 85 7.25 M16X110 35
HGF-4211-50-23.50FS 475 100 73 - 75 611 20 = - % - Wi6X 60 4 60 | G765 | P48 P20 | G40 | G60 3




 NAN ARy MER My TINILT
Gasket Type Stop Valves

FU¥E 10", 20", 32, 50°. 80" e
Size T -
ModelNo.| HGL—4211

HMERES Z 5+ 4% Standard Specifications
Symbol

eERAEN
‘N_ M:;;Vjorking Pressure 21MPa

 JULTEUSAMIL . OUVIIFMBERLET .
¥ IS VIRKRLSAFERNGDGE. BIEEIER TSL,
LSAE D SV IEMTDIEE. EFIVFVIGKREDR "—FL" &DET,
¥ JI5VIRJIS B 2291SSAE. LSAFICEUET,
% Mounting bolts & O-ring included.
% In case of type of flange is LSA, please consult us.

LSA type flange - - - End of model number is "“—FL" .
% Flange types should be per JIS B 2291 SSA, LSA.

HGL—4211—32,50,80—23—FS

NDED 7 X N N
T LA
= Ry &) )
% ] 3
./ #0; S > ull o
@ = L HUBROSE = -
2HES #H T m[t] In case of 32A__ £ #H T Oy
Open H Open H
- G G
OS5 2D
i A d
IR -
7 } 7any
o __/ \E_J/' o
A / eE]
4-ghilil c & HURRDEE
Holes A In case of 32A
B f ¥ & Mounting Dimensions 7 5 ¥ Y Flange
P dvzr S 102A7)L ~ Bolt 102B7L ~ Bolt
Model No.
A B c E F G K P h |FUE Size| 8 No.| g L M N Q s T |FUHA Size| # No.
HGL-4211-10-23-FS 40 70 20 10 50 R |25 10 9 M 8Xx 70 4 125 36 54 178 28 9 21 M10X35 4
HGL-4211-20-23-FS 60 0 3 175 65 40 | 325 | 126 | 14 M12X 80 4 20 40 58 | 277 38 12 21 M10X35 4
HGL-4211-32-23-FS 4| 124 2 21 R 59 | 46 16 175 M16X 110 4 315 56 7% | 432 56 16 27 M12x45 4
HGL-4211-50-23-FS m 180 ul 365 140 80 | 70 20 20 M18X150 4 475 73 100 | 611 7% 20 3 M16X60 4
HGL-4211-80-23-FS 135 | 220 85 825 170 100 | 85 25 26 M24x200 4 71 103 140 | 0 108 25 44 M22x80 4
o OUVIRUES ﬁ =
“Ri i ass
EFILFUN ~f 8|g|gg284|(z)e])
Model No. i@
D D H U Vv w X Y z 126A | 126B | 126C | 126D | 126E | 126F (k)
HGL-4211-10-23-FS 22 9 8 153 60 61 80 10 R 36 P18 625 P10 p21 625 - 28
HGL-4211-20-23-FS 35 16 10 197 65 66 120 15 3% &2 630 635 P125 625 630 - 47
HGL-4211-32-23-FS 45 30 10 243 85 91 120 20 60 43 G40 650 P32 P16 G35 G40 111
HGL-4211-50-23-FS 65 43 17 317 114 121 200 30 8 65 (660 G7% P48 P20 G40 (660 275
HGL-4211-80-23-FS P il 27 418 156 165 300 36 100 85 685 685 P71 P24 645 685 58




¥ HE ,
-y EZ2ANT
Pressure Drop Property Chart

S FEE32mme/sICHITF DIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm’/s.

*C DI STIFSSAE TSV VBB ZRUE T,
*This pressure drop property chart is in case of SSA type flange.

HGF—4211—10—23—10FS

8-; TS URF—FAD
0.5 \>/
04

ENRETE
Pressure Drop

RGP TR
. F—pAD

=%
w

=

o

o
e
—

15 30 45 60 75 90 105 120

& B Lmin
Flow Rate

o

HGF—4211—20—23—20FS

1.0
0.9
208
&3 o7 25> SRR
=S 06 1
% 505
o 0.4
= ’:‘:) 0.3 ﬁZ’;yMBJJ
MPa 0.2 K—pAL
0.1
0 100 200 300 400
# B LUmin
Flow Rate
HGF—4211—32—23—32FS
1.0
0.9
4,08
o DQ 0.7
g@ 2 8'5 5 SRF— AL
o g 8-‘31 HA Ml
50 F—
MPa 0.2 L ,/‘ | Kb m
0.1
!
0 100 200 300 400 500 600 700 800 900 1000
& &' Umin
Flow Rate
HGF—4211—50—23—50FS

% e NS

N

~ A FRTMF AR

ENRETE
Pressure Drop

=
w

S

o

o
e
=

B

500 1000 1500 2000 2500 3000

& B Lmin
Flow Rate

o

HGL—4211—10—23—FS

EHETE
Pressure Drop
[eNeNeNeNeNeNe R
Wh OO N®©OO

=
T
[y
SRS
= o

-
0 20 40 60 80 100 120 140 160 180 200
& 2 Lmin
Flow Rate

HGL—4211—20—23—FS

1.0
0.9
008
w © 0.7
=206
¥ % 05
0 0.4
He0s
MPa 0.2
0.1

0 50 100 150 200 250 300 350 400

2 LUmin
Flow Rate

HGL—4211—32—23—FS

1.0
0.9
o 08
@ © 0.7
=206
% 505
o 0.4
He0s
MPa 0.2
0.1

0 200 400 600 800 1000 1200

A & Lmin
Flow Rate

HGL—4211—50—23—FS

1.0
0.9
L 08
 © 0.7
=206
% 505
o 0.4
o
MPa 0.2
0.1

0 500 1000 1500 2000 2500 3000 3500 4000

& &' Lmin
Flow Rate

HGL—4211—80—23—FS

=
e

£ EHBETE
T
o Pressure Drop

PEeEeeE
S VW h oS

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000

A & LUmin
Flow Rate




I NO.1 .S AP

Gasket Type Stop Valves

U 10%, 204, 32*
Size

HGH—4211—10,20—23

2BEE HH
Open H
-
; ’
A
N
N
Z _(
YA
O o
« ] el
E P
— < e H {4 = & Mounting Dimensions B8
‘t-'\';l”d"TN/ 4 102U I Bolt |Mass
odetNo I alBlElF|IK|ILIN|P| n |BUstseEN ke
HGH-4211-1023 | 85| 70 | 65 | 50 | 25 | 185 465] 10 | O | M8x50 | 4 | 24
HGH4211-20-23 | 113 | 97 | 81 | 65 | 325 | 128 | 588 | 16 | 175 MI6X70 | 4 | 56
— [ L 0UYJHUESO-Ring Size
‘t-,\';l”d"TN/" ? i (JIS B 2401)
ocelNo.- [ pp, DS | T U | v | w | H [126al1268[1260]1260
HGH-4211-1023 | 22 | 9| 10| 12 | 3 | 8| 49| 26| 80177 | P18 | G25 [P0 | P2l
HGH-4211-20-23 | 35 | 16 | 16 | 18 | 53 | 10 | 64 | 34 | 120 | 233 | 630 | G35 |P125] G25

LB #2795

120

Open 269.5
G351f Pi61fE  P321fA G501

M20X120
3

=

[

108
92

29

©
<

92
127

o
5

9
8

S 4-g21.58L

Holes

A T TRy e

Model No.

HMERES Z 5+ 4% Standard Specifications
Symbol
= EREN
M Max.Working Pressure 21MPa

 JULTESAMIL b, QU JIFRBERULED .
% Mounting bolts & O-ring included.

FE7IiE T4 1%

Pressure Drop Property Chart

I FEE32mm?/sIC BT DIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?®/s.

HGH—4211—10—23

B
F—%

P =
WA N®OO

EHRETE
Pressure Drop

=

T

[
=
=

20 30 40 50 60 70 80 90 100
& & Umin

Flow Rate

HGH—4211—20—23

=)

=
© ©

£ EHETE
o
o Pressure Drop

PeLooe2e
W h OO

o

50 100 150 200 250 300 350

& & Umin
Flow Rate

400

HGH—4211—32—23

£ EHBETE
o
o Pressure Drop

SN WD D N®D©O

—]
100 200 300 400 500 600 700 800 900 1000

& & Umin
Flow Rate

o




I NO.1 BRI I
Gasket Type Stop Valves

U 107, 20%. 32%, 50", 80"
Size

EFIFUN
Model No.

HG,HGD—4350

HEEES = {+4% Standard Specifications
Symbol
= EREN
M Max.Working Pressure 35MPa

¥ JUVTEUSAMRIL by QU JIEMBEH LRI .
PAGES =S
TEFENNSVAE T, )\ RURENES C35MPaDBES 1 VICRETT .

% Mounting bolts & O-ring included.

Y¢ Characteristic
This valve has the merit that it is easy for you to operate the handle even in the case
of high pressure 35 MPa, as it has the function of internal pressure balance.

HG—4350—10,20—23 HGD—4350—32,50—23

w
S N —r e | —"
BURS0NEENH
ncase of 50A
UELS 4 ® % H HURS00EE Z|r
Lift nﬂ% 2 In case of 50A n §
i g 4%
)\ 0 | sl il
| ] ‘ e Foref o
Lol Lo - Lo, [N -
D D
o © ce=
— U
- ©0@ Vo YoV 1
. 2 N A AR
g o P gy
= 442zl 1 N Z,
Holes
& K_O"_‘- N_4-gz8L
Holes
G
& E L
L E A
A
< <+ 3 M ti Di i 300
B ) B f+ < % Mounting Dimensions JTB e Bl r__—.‘ ]
EFIWF N . —
Model No.
A|B|E|F|G|K|L|N|P|Q WUL&SzE)HN. | i
1)7h25 G105 118 g é T
HG-4350-1023 | 87 | 72| 59 | 44|53 |295| 14 | 14 |2 |6 | mxes | 4 L 5ls
P80 118 ﬁo,\
HG-4350-20-23 | 110 | 95| 7 | 61|70 |38 | 17| 17 [305| 6 | MI6x105 | 4 o1t I
HGD-4350-32-23 | 150 | 120 | 100 | 80| 935 |50 | 25 | 20 [40 | 65| M2OX145 | 4 670288 . ALI
HGD-4350-50-23 | 240 | 200 | 170 | 130 {158 |85 | 35 | 35 |65 |12 | M30x240 | 4 P el g
77.5 77.5, M30X340 /
[Z3
UL| OUVIHUES HE
EFLF I Frl miesa Mass eL_oL_/e
t o
Rleceliics ) V> WanWan Wik BN
Di|D| T |h|W]|H 126A|126B|126C|126D| Z | (ke) ACANVASAREL
& " 0oy
HG-4350-1023 | 10 |245| 18 | 76| 80 |1435| 5 | P18 | P14 |G25 | P11 | 135 38 & 2o —
40 hd
HG-4350-2023 | 16 |325| 23 | 95| 100|178 | 7 | G25 | P20 | 635 | P18 | 175 | 80 2@ N
280 6-¢33&EL
Holes
HGD-4350-32-23 | 26 | 425| 29 | 130 | 140 [235 | 10 | G35 | P30 | G5O | — | 215 | 165 = °
HGD-4350-50-23 | 40 | 575 | 45 | 220 | 200|345 | 15 | G50 | P50 | 675 | — |33 | 615

9




HG—4350—10—23

EHRETE
Pressure Drop

=
o
[y

pPREEpeEE=
S VWP OO N®OO

L
0O 10 20 30 40 50 60 70 80 90 100
A B Umin
Flow Rate

HG—4350—20—23

ol FE 102 451 ;
] 0.8

P A g - § 8.7

-~ ) .6

Pressure Drop Property Chart asos

I 32mm?/SICBIF BIRKIEEET T, o g 03
The following characteristic is a representative performance at viscosity 32mm?/s. MPa 29

50 100 150 200 250 300

& B Umin
Flow Rate

o

HGD—4350—32—23

ENRETE
Pressure Drop

=
el
[y

S NWR OO N®©OO

OO0 O0OO0O0O0O0OO0O0O =

100 200 300 400 500 600
# & Umin
Flow Rate

o

HGD—4350—50—23

EHRETE
ressure Drop

0 200 400 600 800 1000 1200 1400 1600 1800 2000

& B Umin
Flow Rate

HGD—4350—80—23

Pressure Drop

EHRETE

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
& B Umin
Flow Rate

10



VOB TSVIRA MY TINILT
Flange Type Stop Valves

U 8°~80" = .
Size EFIVFIN

Model No. HF—4211

HMERES Z 5+ 4% Standard Specifications
Symbol

eERAEN
‘N_ M:;;Vjorking Pressure 21MPa

¥ JTYEJIS B 2291SSAKICEUFET .
% FUYA)VBHEEIEROBEAF. ET IV IUHFD-42117 &71%
DFT,
% REFAEH30MPa (FUREREI2LLT) . 25MPa (FUR40LL L)
AERADBEIF. ETIVF VIV HFZ-421 17 ZEhEE RS0,
¥ D2 ) SRIVDREIT/ N\ VRIVZEH T EE () RIVEYS T (F
T232) TV T ) CRIVICESF DT ENTEET .
% Flange types should be per JIS B 2291 SSA.
- Q..o — % Spheroidal graphite iron castings - - - Model number is ‘HFD-4211" .
HF—4211—8~20—23 % Max. working pressure of 30 MPa (Size of 8A,10A,15A,20A,25A,
32A) .25MPa (Size of 40A,50A,65A.80A) - - - Model number
is "HFZ-4211" .
% When mounting valve on the unit panel, please inquire and use
panel nut (option) .

e [f% | B Distance 7 3 YV Y Flange
EFILF I\ |Bore .
102 Bol
Model No. OBl  Bolt
D|L|L |Di|E|F|G|A]|B |BtSze 3N T |K|P
M:

z. “JL Hr4211- 823 125] 80] 12| 9 | 22 | 143] 8 | 54 | 36 |M10x35] 8 | 21 | 45 | 60
g HF4211-1023 [ 125 | 80 | 122 | 125] 28 | 178] 9| 54 | 36 |miox3s| 8 | 21 | 45 | 60
i ] Hr4211-1523[ 16 | 90| 132 |16 | 3 |222| 11 | 54 | 3 |Mi0x35| 8 | 21 | 52 | 60
Hra211-2023[20 | 100] 142 |20 | 38 | 207 12 | 58 | 40 |wiox3s] & | 21 | &0 | 65
f@)\ 3 fz Bonnet %ll- Og‘ézﬂg?gli% ﬁ%
=)L,9>)¢ g - ass
. \J fﬂzg'j,\ﬁ\ LA bt (IS B 2401)
N M, W | H | ho| c [12641268[12601260| (ke)
el e Hr4211- 823| x¢04 | MEx15 | 8| 80| 13| 74 |30 | 625|625 |p1o | P21 37
. . Lo Hr4211-1023| 35x¢04 | MEx15 | 8 | 80|13 | 74 |30 | 625|625 P10 | P21 37
. . Hr4211-1523| 41x¢73 | w3x15 | 8 | 100|162 | 84 |30 | 625|630 |p12s| 625 | 42
Hr.4211-2023| 46x531 | MAox15 | 10 | 120 | 181 | 9 | 325|630 63 [p125| 625 | 54
HUR8EF ISV ILNEFURIOERE—TTY,
HF—4211—25,32—24,40~80—23
FUR25,32018 4
‘"wefs’m oW ) . | | Distance 7 35 ¥ Y Flange 3 fz Bonnet
D|L|L|D|E|F|G|A|B [mostsean T| N v
HF-4211-2524 |25 | 135 |189]25 | 45]345] 14 | 68] 48] M12xd5 | 8 | 27| 41xé73 |M 60X2
) HF-4211-32-24 | 315 | 150 |204] 315] 56]432] 16 | 76| 56| M12x45 | 8 | 27| 50x677 |M 64x2
e & HF-4211-40.23 | 375 | 160 |230]375 | 63]49.1] 18 | 92| 66| M1Bx60 | 8 | 35| G4x624 |M 76%2
il z. HF-4211-60-23 | 475 | 175 |245] 475 | 75]611] 20 [100] 73| MiBx60 | 8 | 35| 67x74 |M 90%2
muazssoas D i HF-4211-6523 |60 | 210 |298]60 | 95|77.1| 22 |128] 92| Mo0x75 | 8 | 44| 71x82  |Wi00X2
- G B HF4211-8023 |71 |250|338] 71 | 10890 | 25 | 140] 103] Meaxs0 | 8 | 44| 77x883 |w1t6x2
o @ | -
I N = N : =
4 LS s Model No. t
C) 'LU-VL ho | K | C W | H [126A]126B]126C]126D]126E| (ke)
T~ e HF4211-2524| 75| 90 | 38 | 9 | 120 | 191] 6% | P2 | 6 | P126 | 625 | 101
] ‘t: - HF-4211-32.24| 85| % | 43 | 10 | 140 | 214 | 640 | P32 | G50 | P16 | 6% | 124
) e HF-4211-4023| 9 | 115 | 50 | 13 | 160 | 229 | G50 | P38 | G &0 | P16 | 6% | 200
. p HF-4211-50:23| 110 | 130 | 57 | 17 | 200 | 277 | G60 | P48 | G 76 | po0 | 640 | 272
HF-4211-65:23| 120 | 160 | 70 | 22 | 260 | 324 | G675 | P60 | G 8 | P2 | 640 | 450
HF-4211-80-23| 140 | 165 | % | 27 | 300 | 370 | G85 | P71 | G100 | Po4 | 645 | 616

11



AN QUAHRER by FINILT
Threaded Type Stop Valves

U 8'~32" EFLFUI
_ Size 4 HT—4211

Model No.

HEEES = {+4% Standard Specifications
Symbol

EeERAEN
‘N_ M:;x';vjorking Pressure 21MPa

 RUE. BAT—/MMUJIS B 0203, RcAL)HRIETT .

% A= b - JARIVOREIC/\Y RIL7ZET EEE JIRIVE
v b (FTv3v) T )OULTZ)IIRJVICEMH T DD
TEFI,

% Taper thread coupling type (Rc) should be per JIS B 0203.
% When mounting valve on the unit panel, please inquire and use
panel nut (option) .

O% &~ 3 fz Bonnet
?\ NS EFILFVIN Bore | Distance .
NERIX A
Model No. Hexagon
o zZ|L|D]|K N M ho | C
C
z ] P M. HT-4211- 823 | '/« | 90 | 45 | 4 | 36x404 M32x15 | 7% | 30
wlE 8 ~
s 20 L‘EJ HT-4211-10-23 3/8 0 45 45 365Xx404 M32x1.5 74 30
& Y7k A
Lif | . | HT-4211-15-23 /2 | 110 52 52 41x473 M38X 15 84 30
b HT-4211-20-23 34 | 110 65 60 46X53.1 M40X 15 i R5
> UL <~ TG RS A A B8
~ | o - i 0UVJHUES 0-Ring Size
=l = ~ i
Y S N\ % EFIVF VI L4 WIS B 2401) Mass
= © Model No. t
W H 126A | 126B 126C (kg)
P HT-4211- 8-23 8 80 136 625 P10 P21 19
L
HT-4211-10-23 8 80 136 625 P10 P21 19
HT-4211-15-23 8 100 162 630 P125 625 31
HT-4211-20-23 10 120 181 635 P125 625 42

HT—4211—25,32—24

 #H
N
S
z

oz b " O @ 3 fz Bonnet
%%8 Z) ¢ “ ]/ £3)LFv)0 | Bore |Distance ——
] Model No. Hexagon
DN & # Z|L|P|C|h |K N M
q ‘ “ f—t HT-4211-25-24 | 1 1350 7% | 38 | B | 90 | 41x73 MBOX2
— i Y HT-4211-3224 | s | 50 | 86 | 43 | 85 | 9% | 50x577 M4X2
2RcZ jL — o &J - =
U OUVIBUES o]
EFILF VN & O-Ring Size ass
L e Model No. t (JIS B 2401)

w H 126A | 126B | 126C | 126D | (k8)
HT-4211-25-24 9 120 191 645 P25 P125 G25 82
HT-4211-32-24 10 140 214 G50 P32 P16 G35 103




HT —4211—8—23

e=2ee
rooN

ENRETE
Pressure Drop

e=
w

S
)
V)

o
o

o
=

o

10 20 30 40 50
A & LUmin
Flow Rate

el
i H3%—4211—10—23

S FEE32mm?/sIC BT DIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

EFIRE T4 3

Pressure Drop Property Chart

RFIS1E .

Operating Characteristics

cocoo

EHRETE
Pressure Drop

o=
w

<
)
[V

o
[

\

o
—
o

H*—4211—15—23

S ooo

ENRETE
Pressure Drop

o

1 . L .
0 20 40 60 80 100 120 140 160
A& & Umin

Flow Rate

HX—4211—20—23

1.0
0.9
0.8
@807
=206
¥ 505
E 804
03
MPa 0.2
0.1

—
0 40 80 120 160 200 240 280 320

& & Umin
Flow Rate

13



H*—4211—25—24

0 100 200 300 400 500 600 700 800

A& & L/min
Flow Rate

HF—4211—65—23

@2 =
® © o

a
0.

(=2

@ee
> o

EHRETE
Pressure Droj
o
w

=

o

Iy
P
=

[—

o

500 1000 1500 2000 2500
A & Umin

HX%—4211—32—24

Flow Rate

3000

e
©

ENRETE
ressure Drop

MPa

PEeLeE
S vwh oo N

0 100 200 300 400 500 600 700 800 900 1000

& & L/min
Flow Rate

HF—4211—80—23

Pressure Drop

ENETE

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

& ® Umin
Flow Rate

HF—4211—40—23

e
© &«

ENkETfE
ressure Drop

=
o P

P

PEeeEeeE
“hhwbroN

L
0 100 200 300 400 500 600 700 800 900 10001100 1200

&' Lmin
Flow Rate

(REALEMV7RED)
Closing Torque Characteristic Curve

HF—4211—50—23

70 80

Q

% 60 o

) =<1 65

g 50 =

E

g 40 | </ 50

& 30
’g E’ P 40
5o 32
E § 20 —— 55
&3O 10 — /,_ < ?g
N-m l 8,10

0 5 10 15 2021
E 51 MPa
Pressure

ENRETfE
Pressure Drop

oooo

SO

=&
w

=<

n

Iy
oo
L)

|
0 200 400 600 800 1000 1200 1400 1600 1800 2000
& & L/min

Flow Rate

(REALENRIVIRTEDERE)

Closing Operative Force Characteristic Curve Of Handle

500 (NCRIVIRICINA BEEAR AR DH) 8o
A 65
400 .50
8 — 32
£300 .40
© — 25
> 1 L=
£ 5200 = 15,20
%S00 — 810
N
|
0 5 10 15 20 21
E 7 MPa
Pressure

14



\0RN TSVIRBRA Y TINILT

Flange Type Stop Valves

U 10°~80"
Size

HMERS
Symbol

<t

¥ STERIFEIIINS 2V ZAEE T\ RIVRIENES T35MPaDEES A VICHRECTY .

% This valve has the merit that it is easy for you to operate the handle even in the case
of high pressure 35 MPa, as it has the function of internal pressure balance.

EFFVN

Model No.

HF—4353

1Z#/14 Standard Specifications

mefEAEN

Max.Working Pressure

35MPa

\ U /
I {
\
ER sy L TR \ T
% g _—35F 126
w* -
r | |
Q I Ji
1 ] / @) @
\ — 7% /\
» . 5 @9 N
Il | il
@ i =
® 0 | L ol
L T B
L oA
4D
O 2| @/ Distance 7 S5 Y Y Flange UL OUVIRUES MEE
= ~ )% Bore i 0O-Ring Size ass
e ler 1027 ~ Bolt bt (IS B 2401)
Model No. t
d L L, do E F G A B |FUHESize [ No.| T D w ho H |[126A|126B|126C| (k8)
HF-4353-10-23 " 100 150 " R 178 15 74 44 M12X 45 8 25 85 7 100 Vi) 129 625 P16 | G 30 95
HF-4353-15-23 125 36 222 15 132
165 120 170 78 49 M12X 45 8 25 100 10 120 91 154 630 P22 | G3H
HF-4353-20-23 16.5 44 2779 17 131
HF-4353-25-22 215 50 345 19 23
30 180 244 100 65 M16X 55 8 32 140 14 160 119 202 G40 | P38 | G50
HF-4353-32-22 30 61 432 20 21
HF-4353-40-22 34 68 491 23 642
475 230 326 125 84 M20X 75 8 48 170 17 200 156 259 G60 | P58 | G 75
HF-4353-50-22 475 81 61.1 28 629
HF-4353-65-22 575 260 376 575 103 7.1 31 162 110 M27x100 8 58 220 20 250 191 307 67 P67 | G 8 | 1175
HF-4353-80-22 67 320 448 67 120 0 34 174 120 M27%100 8 64 270 23 300 222 362 685 P80 | G105 | 17

15



ol FE770 T4
Pressure Drop Property Chart

ST FEE32mme/sICHIFDIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

HF—4353—10—23 HF—4353—50—22
1.0 1.0
0.9 [ 0.9
0.8

EHETE
Pressure Drop
[eNeoNoNeNe)
wWhrOoo N

EHRETE
Pressure Drop
[ooNoNoNoNo}
WA OO N

MPa 0.2 MPa 0.2
0.1 —— 0.1 —
0O 20 40 60 80 100 120 140 160 180 200 0 200 400 600 800 1000 1200 1400 1600 1800 2000
& & L/min & & LUmin
Flow Rate Flow Rate
HF—4353—20—23 HF—4353—65—22
1.0 1.0
0.9 L 0.9
o 081 o208
@ S 0.7 @ 0.7
=9 06 =906
% 505 % 505
g0 W g o
a Y- a 0.
MPa 0.2 MPa 0.2
0.1 0.1
0 50 100 150 200 250 300 0 500 1000 1500 2000 2500 3000
& & Lmin & & LUmin
Flow Rate Flow Rate
HF—4353—32—22 HF—4353—80—22
1.0 1.0
0.9 0.9
o 08 o 08
w © 0.7 @ © 0.7
9 06 =906
% 505 % 505
g0 g o
a U a 0.
MPa 0.2 MPa 0.2
0.1 —= 0.1
0 100 200 300 400 500 600 700 800 900 1000 0 500 1000 1500 2000 2500 3000 3500 4000
& ® Lmin & & LUmin
Flow Rate Flow Rate

16



VOB N ENERA MY ITINILT RUARS. TS5V IR
Forged Carbon Steel Stop Valves Screwed+Flange Type

HFU®E 8°~50%
Size

EFILFUN
Model No.

HT.HFS—1211

MEES 1ZE# {44 Standard Specifications
Symbol
=eERES
M Max.Working Pressure 21MPa

¥ AU, EA7—/M0 (JIS B 0203, RchaL) R T,
¥ 7T JISB 2291SSAFECEUET,

¢ AZw b - JIRIVOKREIC/\ Y R)L7ZEHT EEFE. /R VESF Y
NFTa) T JULTE)I\RIVICEfSIF S ENTEEFT,

% Taper thread coupling type (Rc) should be per JIS B 0203.

% Flange types should be per JIS B 2291 SSA.

¢« When mounting valve on the unit panel, please inquire and use
panel nut (option) .

;;;Mu;:; = o B HE 3y Jz Bonnet
Incase 16208 El\;—o}d belj-NJo /U] Bore |Distance I Heragon
. z L D M M ho
HT-1211- 8-23 Ja 80 30 36x404 M32 66
HT-1211-10-23 s 80 30 36X404 M32 66
MX1.5 HT-1211-15-23 fo 0 38 41x473 M38 76
z HT-1211-20-23 ¥A 110 46 46X53.1 M40 88
‘Té E, HT-1211-25-23 1 125 53 50x57.7 M50 93
§° HT-1211-3223 | 1'% 150 63 58X67 56 103
HT-1211-40-23 1'% 175 il 65X75.1 M56 117
. HT-1211-50-23 2 210 86 77x889 M6d 133
U IROES =3
L o e
g, || o (IS B 2401)
t W H C 126A | 126B | 126C | (kg)
HT-1211- 8-23 8 80 128 25 625 P21 P10 13
o HT-1211-10-23 8 80 128 25 625 P21 P10 13
HT-1211-15-23 8 100 154 31 630 625 P125 20
ez HT-1211-20-23 10 120 17 38 636 (25 P125 33
HT-1211-25-23 1" 160 185 45 640 635 P16 41
L HT-1211-32-23 12 200 216 535 645 G40 P20 77
HT-1211-40-23 14 200 234 63 (55 G40 P20 102
HT-1211-50-23 18 250 273 77 (65 645 P24 172
HFS—1211—8~50—23
W
— e o || B Distance 7 S5 Y Y Flange S Jz Bonnet
————— EFIFIN Bore 102U Bolt | | T/ Heem
Incase of 208 ModelNo. | p | | ||, |p,|E| F |G| A |B[Eodsele T| M | M
HFS-1211- 8-23 | 125|114 | 156 | 9 |22|143] 8| 54|36| MI0X356 |8|21| 35x404 |M32
HFS-1211-10-23 | 125 114 | 156 | 12528 | 178| 9| 54|36 MI0X35 |8 |21| 35x404 |M32
i HFS-1211-16-23 [ 16 | 124 | 166 |16 |32 |222| 11| 54|36 MIOX35 |8 |21| 41x473 |M38
. 2 HFS-1211-20-23 [20 | 144|186 |20 |38|27.7| 12| 58|40 | MI10X35 |8 |21| 46x53.1 |M40
Eg o 126 HFS-1211-26-23 |25 | 167 | 221|256 |45|345| 14| 68|48 | MI12xdh | 8|27| 50x577 |Mb0
E c HFS-1211-32-23 | 315|192 | 246 | 315|656 | 432[ 16| 76 |56 | M12x45 |8 |27 | 58X67 M56
@ ok M. g HFS-1211-40-23 [ 37.5(230 | 300 |375| 63 |49.1| 18| 92|65| MI16X60 |8 |35| 65Xx75.1 |Mb6
E ut HFS-1211-60-23 [47.5( 265 | 335 |475]| 75 |61.1120 | 100 | 73| M16X60 |8 |35| 77x889 |M6d
o / EFILFUI = OgparoEs e
~ Gl ho t W H C |126A/126B|126C|126D| (kg)
o | n HFS-1211- 8-23 66 8 80 128 25 G625 | G265 | P10 P21 31
8 HFS-1211-10-23 66 8 80 128 25 625 G625 | P10 P21 31
Le | HFS-1211-15-23 76 8 100 154 31 625 630 | P125 | G25 37
N B HFS-1211-20-23 88 10 120 172 38 G630 | G35 | P125 | G2% 50
. HFS-1211-25-23 93 11 160 185 45 G35 G40 | P16 (35 8.1
HFS-1211-32-23 | 103 12 200 216 535 G40 | G45 | P20 G40 117
HFS-1211-40-23 | 117 14 200 234 63 G50 G55 | P20 G40 180
HFS-1211-50-23 | 133 18 250 273 77 660 065 | P24 645 263

17




ol FE770 T4
Pressure Drop Property Chart

ST FEE32mme/sICHIFDIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

H% (S) —1211—10—23

1.0 1.0
0.9 0.9
208 208

@ g 0.7 @ g 0.7
=5 06 =5 0.6
% 505 % 505
» 0.4 @ 0.4
M&0s HE o3
MPa 0.2 MPa 0.2
0.1 — 0.1

0 10 20 30 40 50 60 70 80 90 100

& ® L/min
Flow Rate

H3% (S) —1211—32—23

H% (S) —1211—15—23

0 50 100 150 200 250 300 350 400 450 500

A ® Umin
Flow Rate

1.0 1.0

0.9 0.9
508 508

ym © 0.7 ym © 0.7
06 508
% 505 % 505
» 0.4 @ 0.4
ME0s B2 o3
MPa 0.2 MPa 0.2
0.1 0.1

— ——

0 20 40 60 80 100 120 140 160

A & Umin
Flow Rate

H% (S) —1211—40—23

H3% (S) —1211—20—23

0 100 200 300 400 500 600 700 800

& & Umin
Flow Rate

H3% (S) —1211—50—23

1.0 1.0
0.9 0.9
208 208
@207 @07
=92 o06 -2 o06
% 505 % 505
% 0.4 204
HE o3 HE o3
MPa 0.2 MPa 0.2

0.1 0.1 —

0 50 100 150 200 250 300 0 100 200 300 400 500 600 700 800 900 1000
& B L/min & 2 Lmin
Flow Rate Flow Rate

H% (S) —1211—25—23

EHRETE
Pressure Drop

=
w

=

n

o
Pe
=

o

50 100 150 200 250 300 350 400

A & Umin
Flow Rate

18



VORN HERR TS VIR MY TINILT
Carbon Steel Flange Type Stop Valves

U 8°~80"

Zz wezso
() BXBHRHS  Hfa R A ER
ERARTEARES 92 FVI0IB 525557? 1ZH#{+4# Standard Specifications
2 Bt ymbo

Re{EREN
‘N_ Max Working Pressure 8MPa

% J5VIF JISF 7806 280KICEUE T,
% AZw b - JARIVOREIC/\Y FIL7ZET EEE JIRIVETS
v NF T3 T JULTZ)RJVICERIT S ENTEE T,

% Flange types should be per JIS F 7806, 280K flange.
% When mounting valve on the unit panel, please inquire and use
panel nut (option) .

HF—1280—8~20—11

. |EIf% EEDistence # 7 5 ¥ Y Flange 3 fz Bonnet
ot o, | I e
D|L|L|P|D|E|F|G|A|B [sstselan) T| N M
HF-1280- 8-11 [123] 90(134] 72| 78|24 | 123] 10| 66 | 43 | mioxdo | 8 |22 | 41x473 |M38x15
HF-1280-10-11 [123] 90 [134| 72 [109] 30 [ 178] 11| 66 | 43 | M10x40 | 8 | 22| 41x473 |m38x15
HF-1280-15-11 [123] 90 [134| 72 [123] 34 [222] 12| 66 | 43 | M10x40 | 8 | 22 | 41x473 |M38x15
HF-1280-20-11 [162] 100 [150| 79 [162] 40 [27.7] 12 | 72 [ 48 | M10x40 | 8 | 25 | 46x53.1 |Md0x15
ﬁ_ @ @ _ UL OUYIHUES gE
e atiml N i B STosss,  |vess
—= Bl 1, @ {.} Model No. K YW | H | h | c |126a]1268]126C|126D] (k)
L R AN HF-1280- 8-11] 52 | 8 [ 100 [ 155 | 7% [ 36 | Pe0 | 630 [ P15 | 625 | 59
‘ . - HF-1280-10-11| 52 | 8 | 100|155 | 76 |36 | P20 | G30 | P125 | 625 | 59
. . - HF-1280-15-11| 52 | 8 | 100|155 | 76 |36 | P20 | G30 | P125 | 625 | 59
L P HF-1280-20-11| 60 | 10 | 120 | 173 | 89 [ 395 | 625 | G35 | P125 | G5 | 78
HF—1280—25~80—11
. |E# | & Distance #H 7 5 2 Y Flange 3 Jc Bonnet
EFILF I\ |Bore 101HIb K Bolt RETIXTE
Model No. Hexagon
w D|L|L|P|Di|E|F|G|A|B |mwaselan T| N M
| HF-1280-25-11 |212| 135 |205| 93] 212 48|345| 14| 85| 58|M12x 65| 8 | 35 | 41x473 |M 602
HF-1280-32-11 | 299 150 |220] 106|209 | 60{432] 18 | 98| 68| M16x 60| 8 | 35| 50x577 |M 64x2
| @ HF-1280-40-11 |34.4] 160 |240] 113|344 66|49.1] 20 [105| 74| m16x 65| 8 | 40| 54x624 |m 76%2
HF-1280-50-11 |43 | 175 |275] 144 43.1| 79|61.1] 20 [130| 90| m20x 80| 8 |50 | 67774 |m 90x2
: E. HF-1280-65-11 |573| 210 |330| 162|573 | 100| 77.1] 25 [ 150 | 108 |m22x 95| 8 |60 | 71x82 |M100x2
) S HF-1280-80-11 |69 | 250 |380{ 186|669 | 14|90 | 25 [170|120 | m2ax100| 8 | 65 | 77x889 |M115x2
ﬁ UL OUVIHUES g8
R i § : EFILFVIN 7 0-Ring Size Mass
> Model No. ~f (JIS B 2401)
G A he |hi | K| Cc| Y| w| H |[126A[1268B]126C]126D[126E| (ke)
HF-1280-25-11| 67| 27 | 88465 | 9 | 120 | 185 | 630 | P25 | G 45 | P125 | G25 | 134
HF-1280-32-11| 76| 27| 9553 | 10 | 140|207 | 620 | P32 | G50 | Pt6 | G35 | 184
‘ ‘ . HF-1280-40-11| 84| 29 | 108 | 565 | 13 | 160 | 222 | 645 | P38 | G 60 | P16 | G35 | 234
L L ‘ 3 HF-1280-50-11] 98| 29 | 130 [ %2 | 17 [ 200 | 269 | G55 | Pa8 | G 75 | P20 | G40 | 411
HF-1280-65-11] 108 | 29 | 145 [ 81 | 22 | 250 | 316 | 670 | Pe0 | G 85 | P22 | G40 | 60.1
HF-1280-80-11 129 | 29 | 165 [ 93 | 27 | 300 | 363 | G80 | P71 | G100 | P24 | 645 | 881

19



O
Pressure Drop Property Chart

ST FEE32mme/sICHIFDIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

HF—1280—8—11

1.0
0.9 /
0_0'8
@ 207
206
% 505
0.4
BEos HF—1280—40—11
MPa 0.2
0.1
0 10 20 30 40 50 60 70 :)g
& & Lmin 08
Flow Rate - 5— 0.7
=S 06
HF—1280—10,15—11 %2 o0s
HE s
MPa 0.2
1.0 0.1
0.9 |
5 08 4 0 100 200 300 400 500 600 700 800 900 10001100 1200
m 9 0.7 & EB Umin
= % 0.6 Flow Rate
% 505
@ 0.4
He o, HF—1280—50—11
MPa 0.2
0.1
0 15 30 45 60 75 90 105 120 :)g
& & Lmin 08
Flow Rate - S 0'7
g S 06
HF—1280—20—11 s
ME o3
MPa 0.2
1.0 0.1
0.9
0.8 0 200 400 600 800 1000 1200 1400 1600 1800 2000
m 30.7 & ®' Umin
= fg 0.6 Flow Rate
% % 0.5
0.4
2} $ HF—1280—65—11
MPa 0.2
0.1
=] 1.0
0 25 50 75 100 125 150 175 200 225 250 0'9
# & LUmin 08
Flow Rate . g 0.7
2 06
HF—1280—25—11 &2 o5
Heos
MPa 0.2
1.0 0.1
0.9
0.8 0 500 1000 1500 2000 2500 3000
@ 807 # & Umin
=206 Flow Rate
% 505
@ 0.4
He o3 HF—1280—80—11
MPa 0.2
0.1
0 100 200 300 400 500 600 700 800 1'g
A & Umin 08
Flow Rate @ 3 0.7
g 2 06
HF—1280—32—11 @2 os
M2 o3
MPa 0.2
1.0 0.1
0.9 |—]
0.8 0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
@ go7 A« &/ Umin
pa ?, 0.6 Flow Rate
% ‘g 0.5
@ 0.4
HE o3 -
MPa 0.2
0.1
0 100 200 300 400 500 600 700 800 900 1000
& ® Lmin
Flow Rate

20



) HR Sy MERED R by TINILT
Gasket Type Throttle Stop Valves

U 10, 20~ 32*, 50"
Size

EFILFUN
Model No.

HG—8210

HMERES Z 5+ 4% Standard Specifications
Symbol
" =
HilEﬂ%ﬁﬁE 77
4—%—9(]—- Max Working Pressure 21MPa

 JUVTEUTAMIL . OUVJIFMBERLE T .

* BE

RO A v TIULT . HESA VDREFEOENICHENET,

COINLTE. BIOEHEZE—TEICUEEET TR/ UV TDREERENEAIL. INLTERFUEEE.
TARFTERICERSNE T, REORNAALNREDEED. CNSDMEEFN DD EB A

Mounting bolts & O-ring included.

Outline:

The throttle stop valve is used for the flow rate limit of hydraulic circuit.

Turning the handle to the right make decrease the flow and cut off the flow finally. Turning the handle to
the left make increase the flow in proportion to opening degree, on condition that pressure difference of

inlet and outlet is constant.

Performance is the same as the reverse flow.

HG—82 0,20—23 HG—8210—32,32J,50—22
. N .

X %

& #9H

OpenH

i
w w . ‘ L;IJ
L
@ & |
N AL i
& & xl
- oL o

80

B {4 < % Mounting Dimensions

EFILFUN
Model No.

D|DiD2|S | T WIH A|B/E|F|G|L|K
HG-8210-1023 |22 | 9| 10| 13|33 |7 | 80|180| 8| 70| 65| 50| 465|185 |25
HG-8210-20-23 [ 35 | 16 | 16 | 17 | 44 | 1251 13| 97| 81| 65538 128|325

060 y HG-8210-3222 [ 45 |30 | 30 | 29 | 72 |19 |1 140|140 | 104 | 104 | B2 | 266 | 52
w HG-8210-32J-22 | 45 | 30 | 30 | 29 | 72 |16 | 140|295 | 127 | 127| 92| 92|46 |206 |46
1 1

semng
ELTET]

pen 185

LB 19185

21

HG-8210-60-22 | 65 | 48 | 48 | 31 | 90 |23 | 180 (380|180 |160| 140|120 82 |30 |60
B f¢ 5 3% Mounting Dimensions Ogﬁﬁﬁgg’:ﬁ IQIEE
I -Ring Size ass
s U EFLFUN 1027R)L b Bolt (JIS B 2401)
Model No. —
N E h  |EUE Size| % No.| 126A | 126B | 126C | 126D | 126E | (k8)
e} 7 HG-8210-10-23 4651 10 9 M8X 45 4 P18 |P125| G265 | — - 25
A /§“ HG-8210-2023 | 588 | 16 | 175 | MIGx 60| 4 | GX0 P18 | G% | — | — | 59
/A ] W8 HG8210:3222 | 74| 18 | 215 | N2OXI00 | 4 | G40 [G50 | P24 | P38 | P18 | 17
k} (} B HG-8210-32J-22 | 714 | 175 | 215 | M20X100 | 4 G40 | G50 P20 | P32 | P15 | 134
, fe 4-p11EL HG-8210-50-22 | 110 | 20 24 M22x120 | 4 660 |G7 P30 | P44 | P20 | 288
476 Holes
60.3
80




)3
ol FE770 T4
Pressure Drop Property Chart

ST FEE32mme/sICHIFDIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

HG—8210—10—23 HG—8210—32—22
4P0.15 A4P03 A4P05 A4P1 4P2 4P3MPa A4P0.15 4P03 4P05 AP1 4P2 AP3MPa
100 o 100 ~_
Y Y T N Y Y 3
% A %0 /
80 / % 80 ]/ / N Zpe
N P4 [=4
§° 17 S/
3 60 s i S 60 /
= 7 9 /
& 50 1 g & 50 /
o 1177 3
3 401—F/ 2 40—
5 7 £
= 1 “ 1
A
20177/ 20177
1oL 10
0 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
2 L/min 2 L/min
Flow Rate Flow Rate
HG—8210—10J—23 HG—8210—32J—22
4P0.15  A4P0.3 4P05 A4P1 4P2MPa AP0.15 AP0.3 AP0.5 AP1 AP2 AP3 /P4MPa
100 S S5 - 100 NV Y ~
) 90 /7
—(ZPB
g% p 80—/ /17
270 570 [/
2 4 5 1
o 60—~ 19 60 17
LY 2 /717
20177 ] i
Feor I /a
* 30[77 T 07
/7, % 117
10 10 %
|
0 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
& L/min & L/min
Flow Rate Flow Rate
HG—8210—20—23 HG—8210—50—22
4P0.15 4P03  AP0.5 AP1 AP2 AP3MPa AP0.15 AP0.3 AP05 AP1MPa
100 1%¢ T
M VIV M M Y 3 Y >
% A 90
_80 / — 80
S 7/ < 7
570 17 g0 v
o = AP
# S 60 £ 'S 60 / >
= T JiVA @ 7P3
B o501 — g = 50
o =
§40 /// g 40 // Zps
% 30 j/ / o/I 30 /
A
20 /5/ 20—
10 10{-72
0 50 100 150 200 250 300 350 400 450 0 100 200 300 400 500 600 700 800 900 1000 1100
& & Limin #_ 2 LU/min
Flow Rate Flow Rate

22



VW) TSV IRERD A MY TINLT

Flange Type Throttle Stop Valves

U 10°~80"
Size

=

2B f9H
Open H
sz
2

U7k
Lift

Y

65A,80ANHE
IN CASE OF 65A,80A

2HEE HH
Open H

23

EFILFUN
Model No.

HF—8210

MEES K% {4 Standard Specifications
Symbol
— =
HilEﬂ%ﬁﬁE 77
4—%—9(]—- Max Working Pressure 21MPa

TS5V IE, JIS B 2291SSAKEICEUET,
HUREBAL EF. 22w b - JSRILDFREAEIC/\ > RL7ZEHT &
=, )RV F Y & (F TV 3) TV T %) CRJUICEST T
BHTENTEFT,

Flange types should be per JIS B 2291 SSA.

When mounting valve on the unit panel, please inquire and use
panel nut (option) .--- (Size of 25A, 32A, 40A, 50A, B5A, 80A)

_ X ‘IBZIE ffE Distance 7 3 ¥ ¥ Flange
ETWZ| el 102/)L ~ Bolt
Model No.
d|L|L |[d|E|F |G| A]| B |HUF#Sze N T
HF-8210-10-24 | 125| 80 | 122 | 125| 28 | 178 | 9 | 54 | 36 M10X35 8 21
HF-8210-15-24 | 16 90 | 132 |16 R |222] 11 ] 5% | 36 M10X35 8 21
HF-8210-20-24 | 20 | 100 | 142 | 20 38 |2727] 12 | 58 | 40 M10X35 8 | 21
%I__ OUVINUES |HE
= S i 0O-Ring Size
EFILFVN L f QIR B 2401 Mass
Model No. t
N C P | ho | K W | H |126A|126B|126C| (k&)
HF-8210-10-24 | 36x416 30 60 | 51 | 46 | 7 80 | 170 | G25 |P125] G25 | 40
HF-8210-15-24 | 41x473 | 30 60 | 59 | 52 | 93] 100 | 185 | G25 |P15 | G30 | 42
HF-8210-20-24 |  46X53.1 3251 65 | 72 | 60 | 125|120 | 208 | G30 |P18 | G35 | 6.2
. . | | &8 Distance 7 S5 Y Y Flange
EFILF VI |Boe Z ]Demﬁmn
ModelNo. 4 |\ |, || E|F|G|A|B [mtsefidel T [ho|C|K|J
HF-8210-25-24 |25 |135|189|25 | 45(345| 14 | 68| 48 |M12Xx45| 8 | 27 | 75| 38| 90| 35
HF-8210-32-24 [315| 150|204 |315| 56(432| 16 | 76| 56 |M12x45| 8 | 27| 85| 43| 95| 35
HF-8210-40-24 |37.5] 160| 230|37.5| 63]49.1| 18 | 92| 65 |M16X60| 8 | 35 | 95| 50 | 115] 40
HF-8210-50-24 |475] 175| 245|47.5| 751611 20 | 100| 73 |M16X60| 8 | 35 [ 110 57 | 130 35
HF-8210-65-24 [60 |210]298|60 | 95(77.1| 22 | 128] 92 |M20X75| 8 | 44 [ 120 70 | 150 45
HF-8210-80-24 |71 |250|338|71 [108]90 |25 | 140|103 |M22x80| 8 | 44 |140| 78 | 165] 40
L 3 fz Bonnet g L Ogvﬁﬁ'll?gﬁ% B5E
ETFIVFUN [ZEmmxE i -Ring Size
Model No. | Foaamn k£ (IS B 2401) Mass
’ 1 M t| W | H [126a|126B|126C| 126D 126E| (KE)
HF-8210-25-24 | 50X 577 M 64Xx2 15 | 140 | 255 | G35 |G 45| P20 | P32 | P15 | 114
HF-8210-32-24 | 55X 635 M 76X2 19 | 160 | 290 | G40 |G 50| P24 | P38 | P18 | 14
HF-8210-40-24 | 70x 808 M 90x2 23 | 180 | 330 | G50 |G 60| P30 | P44 | P20 | 22
HF-8210-50-24 | 75X 865 M100x2 25 | 200 | 368 | G60 |G 75| P35 | P49 | P24 | 30
HF-8210-65-24 | 90X 104 M115x2 29 | 250 | 413 | G75 |G 85| P40 | P55 | P25 | 48
HF-8210-80-24 [ 95X 110 M120X2 31 | 300 | 450 | G85 |G100| P44 | P60 | P28 | 65




N NO.2 EF
Threaded Type Throttle Stop Valves

FUE 10°~20% I
Size 4 HT—8210

Model No.

HEEES T3 {+4% Standard Specifications
Symbol
— =
Hili!{% ﬁHE 77
4—%—9(]—- Max Working Pressure 21MPa

% R, BAT—/MAU (JIS B 0203. RcAl) METT,

% Taper thread coupling type (Rc) should be per JIS B 0203.

HT—8210—10~20—23

[ — %‘f

w

& #9H

2
Open H
g

. 2 o’ FEsDx e Y L UV RUES| EE

v A E5)L3)¢ |Bore Hexagon ijl‘ O-Ring Size | Mass
LEF Model No. t LIS

4 d|L|D|h|C|K N W | H | 1264 | 1268 | (kg)

HT-8210-10-23 | g | 90| 45 | 51|30 |45 | 36x416 | 7 | 80|170| P125 | G25 | 30
HT-8210-15-23 | /2 | 110| 52 | 59 |30 |52 | 41x473 | 93|100|185| P15 | G30 | 43
HT-8210-20-23 | 3/4 | 110| 65 | 72 |325| 60 | 46x53.1 |125]|120{208| P18 | G35 | 52

%%
8
g

g%‘j“ -
2-Red - ©

) L

=

24



25

ol 70 T4

Pressure Drop Property Chart

FFIEIFREE32mm?/sICHIF DIARMEEETT .

The following characteristic is a representative performance at viscosity 32mm?/s.

H%

8210—10—23 (24)

4P0.15 4P0.3 4P0.5 4P1 4P2 4P3 4P4MPa

£P05

100

VTN V]

TN

/

90

/

©
o

/

/

[ /17
/

[ 3]
o

4
S

a
o

B

/
/

/
/

IS
o

Handle Revolution

/

-
Nulgpty

[
o

%

-
~
N~

= N
= =]
§ N

0 10 20 30 40 50 60 70 80 90 100 110

& LUmin
Flow Rate

H 3%

8210—15—23(24)

100

4P0.15  4P03 4P05

£P1MPa

90

©
o

B
Handle Revolution
o

o

B

W A O o N
= =] o

%

= N
o O

M

3

0 20 40 60 80

&/ Umin
Flow Rate

100 120 140

H3%—8210—20—23 (24)

100
90

o]
=E=]

< BoE

Handle Revolution
N W A 0 & N
o O O O O

o

ZP2MPa

Quts gPoa gRos 2Pt
NI Y TY Y

Y,
17
17
717 4P3
// / P
/7 e Vi)
] /17
/
/
yAVA
/
/
/7
/7
/7
/7,

0 50 100 150 200 250

A& Lmin
Flow Rate

300 350 400




HF—8210—25—24

4P0.15 4P0.3 4P0.5 4P1MPa
i b ;S - L
90
80
'§70 4P3 —
=
1 260 e
= C;:) 50 / - e o)
40
a5
o 30
20
10
|

0 50 100 150 200 250 300 350 400 450 500 550

&' LUmin
Flow Rate

HF—8210—50—24

P05 4P03 4P05MPa
100 VI

90

@
o

o

@ N
N
2|

E
=}

o

FA
Handle Revolution
o
N
N

N
o

w
o
N
2

%

n
o

=
o

0 100 200 300 400 500 600 700 800 900 1000 1100
&' LUmin

HF—8210—32—24

Flow Rate

A4P0.15  4P03 4P05 AP1 AP2MPa
100 VA A 4
90 /
80 AP
$70 77
5 117 Zpd
#1260 77
£ 50—/
5 7
§4° 177
% 30—
20
10 HZ Z

0 100 200 300 400 500 600 700 800 900 1000 1100

&' Lmin
Flow Rate

HF—8210—65—24

4P0ts  4P03 2Po5sMPa

ZrosMPa_
Vi Y
/

100

0 200 400 600 800 1000 1200 1400 1600 18002000 2200
£ LUmin

HF—8210—40—24

s
Flow Rate

4P015  4P0.3 4P05 4P1MPa
AN N~

100 b % S
90

®
3
™~

o
N~

B
o
N
B

Handle Revolution

B

4P4

NS I NN
o O
N

\\\‘

w
o

%

/
/
/

n
o

=
o

0 100 200 300 400 500 600 700 800 900 1000 1100

& L/min
Flow Rate

HF—8210—80—24

4P0.15 4P0.3MPa
100 -

90

@
o

o

o

E

B

N.4P3

A 0 o N
o O
N

°" Handle Revolution

B
(&)
=]

/
/

A
0 200 400 600 800 1000 1200 1400 1600 18002000 2200

A&/ LUmin
Flow Rate

n
o

10

26




VO HR Ty MEREDA MY TINILT
Gasket Type Throttle Stop Valves With Check

U 10, 20~ 32*, 50"
Size

EFILFUN
Model No.

HG—-9210

HMERES Z 5+ 4% Standard Specifications
Symbol

eERAEN

Max.Working Pressure 21MPa

L_ 7
¥ JUVTESAMRIL b OU Y JI3HMBEHLET .
AR
FORA v T)OLTEF—ARANOREZERICHIEL. REBENDORNZEHERE T 2ENICH
W& T, FBRA[NDRENE. AIEDENEZ—EICURGTTIE. JULTDREERED HIL
FI. RAABNDRNE. AESNeTF Ty I)ULTICEDEREEBESEE T, XA )ULT
ZEHATNEF T v IILTEEDET,

Mounting bolts & O-ring included.

Outline:

The single-throttle stop valve is used to limit one-directional flow rate to any rate and to release counter-directional
flow into free flow. In the case of the flow in limited direction, the valve opening-degree and the flow rate are
proportional to one another, under such a condition that differential pressure between upstream line and downstream
line is kept constant. Counter-directional flow is enabled to pass through at full flow rate by the built-in check valve. If
the main valve is fully closed, this stop valve actuates as check valve.

Py

I2vF>JFEF:0.156MPa
Cracking pressure:0.15MPa

HG—9210—10,10J,20—23 HG—9210—32—24
w ™
,—\,"—\,-—\ T
®)
€|z 126 oy z
H u: 155
. 126 ! | !
| L,
F ] T
| m |
BA—h UJ 8
° 1l
~
N\
NGz N
Y & i T
£ S - .
e
N 4-ghiL
E P Holes E Py 4-ghiEL
A A Holes
HG—9210—32J,50—24
W
UL B {4 < 3 Mounting Dimensions
EFIVFUI 71
8 Model No. t
& DID|s Y wi H|A|BIE|IF| G| K
HG-9210-1023 [ 22 | 9 | 12| 79|49 | 7 | s0|225| €7 | 72| 65| 50 185 | 25
P HG-9210-100-23 | 28 | 14 | 15 | 92|49 | 7 | 80|231| & | 70|603|476| 18 | 238
£ 5 H HG-9210-20-23 | 35 | 16 | 19| 97| 64 |125|120 | 279 | 115 | 99| 81| 65| 272 | 325
C B
& uot HG-9210-32-24 | 45 | 30 | 29 | 152| 87519 | 160 |413| 175 | 142 | 104 | 104 | B2 | 52
Lift
® 7] HG-9210-320-24 | 45 | 30 | 29 | 152 | 875]15 | 140|377 | 168 | 129| 92| %2 | 46 | 46
" HG-9210-50-24 | 65 | 48 | 31 | 200 |108 |23 | 180|490 | 182 | 162|140 | 120 | 58 | 60
. e O
® " LJ_\ HY {5 < 3% Mounting Dimensions O'(J)‘éﬁﬂ?g&% . 2
3 2 A~k @ = SR -RINg Size ass
el iy ' fﬂiigﬁ 0’ ¢ 10271~ Bolt (IS B 2401)
Q}‘ = L|N|P: h U Size| % No.| 126A|1268B|126C|126D| 126E | 126F | (K&)
G HG-9210-10-23 [ 185 | 465 9 M8x 90| 4 |P18|ces|Pig|pi2s|ces | — | 46
, Var Yar ulo
sen OY) x] HG-9210-100-23 [ 127| 4761109 12| 11 |M10X105 | 4 |P22a|G25 |P22alPi2s| 625 | — | 48
e HG-9210-20-23 [ 128|588 175|M16x115 | 4 | 630|630 630 P18 | 635 | — | 99
L . HG-9210-32-24 (26677451519 [215\\20x180 | 4 | G40 | G50 | P24 P33 | P18 | G45 | 30
e ) HG-9210-32-24 [206| 714575 185|215 |M20X 180 | 4 | G40 | G50 | P20 [P32 | P15 | G5 | 248
HG-9210-50-24 (30 (110 24 |Mo2x230 | 4 | 660 | 675 | P30 |Paa | P20 | G55 | 407

27



£ e

T_

5

FE7IiE TS 1%

Pressure Drop Property Chart

ST FEE32mme/sICHIFDIRRMEET T,

The following characteristic is a representative performance at viscosity 32mm?/s.

HG—9210—10—23 HG—9210—32—24
4P0.15 4P0.3 AP0.5 4P1 4P2 4P3 4P4MPa 4P0.15 4P0.3  A4P0.5 4P1 4P2 4P1 4P3MPa
100 Sor 100 S o -
NVTY Y By bl ¥ Y77 P Yy
oA/ : % I -4 .
VA / 7 71 f 7
80 4 - ; 80 17 ~
S 70 ’,/ / // | / .§_ 70 /// y // l,'\ £P05 ‘}/\ AP4 -
2 4 5 7 7 7 a2 7
 Seo—H//1/ , ] 7 L 7 7
e T 71 7 7 7 5} 717 ; i
& 0 50—/ v / - o= 50 T 7 :
Bl HIZ 7 / 7 "2l « ; A
£ /'// / )/; / 7 e /// 777 %8 ¥ _
% 301+ . . T30+ ; . L
QNG ; 7 % ol ;
207 / P05 N} A 20 / /
10% :NM!' — /r N.gP2 10 '7‘ l, I, ‘I/
/ il ! [ N [ / [
0O 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
#_& Lmin A_ 8 Lmin
Flow Rate Flow Rate
HG—9210—10J—23 HG—9210—32J—24
4P0.15 4P0.3 AP0.5 ﬂ AP2 4P3MPa 4P0.15 4P0.3 AP0.5 AP1 AP2 ﬁ‘ ZP4MPa
100 P T> T 5 ST ~ 100 A . s
90 V4 - = 90 WiV = .f
80 / A - _80 A . !
ol e Sl I .:'
5 7 7 7 [ ] !
% 60 / 7 Y 360 1 ﬁ[ / { ] :
3 7 Z 7 o 11/ ; i
L 50 / — - & 0501—/; y /
it o 17 / B 74 H ;
et/ 7 , 7 SO " ;
. o 17 ’ 7 % o] ' s
% 11/, ! ] ZP03 L
20 AN zpPos A~ zpPos ZP1 / 20 [l/I/I/I 7 :; ZP05 ST
0O 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
&/ L/min & LUmin
Flow Rate Flow Rate
HG—9210—20—23 HG—9210—50—24
4P0.15 4P03 @ £P1 4P2 4P3 4P4MPa 4P0.15 4P0.3 4P05S 4P0.3 4P1MPa
100 DAV 7 S TS 100 N ~ —
% i / ya = 7 7
8 /7 ' 80 : >
70—/ ; i 570 / -
5 7] 7 / 5 / / o
=60 # T ; =60 7
e e :‘ 3 a , T 7
E50—f/ 1/ — , _ @50 5 -
E o 7 / / ] o 7 . ~
-] 40 117 7 i T bl 40 7 —A o
£30 /// [ - VR 7p2 v. a3 /// 7 /l,
% g f . ZPos 7 7 % / G AP05 | /
2014, T, : 20—
e = :
7 7 7 7 % 7 -
0 50 100 150 200 250 300 350 400 450 0 100 200 300 400 500 600 700 800 900 1000 1100
#_& Limin & LUmin
Flow Rate Flow Rate

28



W) TSV IRRRDA MY TINILT

Flange Type Throttle Stop Valves With Check

U 10°~80"
Size

EFILFUN
Model No.

HF—9210

MEES K% {14 Standard Specifications
Symbol
EeERAEAN
8 Max.Working Pressure 21MPa

L2

—

% J52JF, JIS B 2291SSARICEULF T,
¥ URBAM K. 22w b - KRILOFREAIC/\Y R)LZEHT

BDIENTEET,

% Flange types should be per JIS B 2291 SSA.

&

T ) \RIVEF Y b (T2 3>) T )L T Z)IRJVICEATS

75w+ F17:0.156MPa % When mounting valve on the unit panel, please inquire and panel nut
f . (option) .- - - (Size of 25A, 32A, 40A, 50A, 65A, 80A)
Cracking pressure:0.16MPa
o mEE Distance 7 3 ¥V Y Flange
EFILFTUN 102711k Bolt
— — D~ Model No.
L L L Ls do E F G A B |BUYkSize| 8 No.| T
z ]‘; HF-9210-10-23| 80 | 122 | 54 | 49 |125| 28 | 178 54 | 36 | M10X35 8 |21
Eg = > HF-9210-15-23| 90| 132 | 65 | 60 |16 | 32 |222| 11 | 54 | 36 | MI0X35 8 |21
4«5{ ] Jiﬁ HF-9210-20-23| 100 | 142 | 71 | 64 |20 | 38 |277| 12 | 68 | 40 | M10x35 | 8 | 21
K
PO | g s
N\ S el L fad E— IR SR L OUVIRUES |&6E8
Iy \ ) Kl AN £5)L9>/¢ |Bore|Hexagon |7\]|‘ O-Ring Size  |Mass
T T\ Model No. t LIS o)
[ iy Bt - d N ho | K W | hi | H |128A|1268|126C|126D|(ke)
L LA HF-9210-10-23| 125 | 36x416 | 51 | 46 | 7 80| 39 | 170 | G25 |P125| G25 | G25 | 44
HF-9210-15-23] 16 41x473 | 59 | 52 | 93] 100 | 49 | 185 | G25 |P15 | G30 [ G30 | 6.0
HF-9210-20-23| 20 46x531 | 72 | 60 | 125 120 | 50 | 208 | G30 |P18 | G35 [ G30 | 7.0
HF—9210—25~80—23
Ei’-‘)bT‘J}\“BDg M@ Distance 7 S Y Y Flange
Model No. |- 1027 K Bolt
< d|L|L|Le|do|E|F |G| A |B |FUESeBNo| T |ho | K | D
HF-9210-2523|25 | 135|189 | 87525 | 45|345| 14 | 68| 48|M12x45| 8 | 27 | 85| 95| 80
HF-9210-32-23|315| 150 | 204 | 96 |315| 56(432| 16 | 76| 56 |M12x45| 8 | 27 | 95115 | 92
HF-9210-40-23|375| 160 | 230 (108 |375| 63[49.1| 18 | 92| 65|M16x60| 8 | 35 | 110 130 [108
b HF-9210-60-23|475 | 175 | 245 [122 |475| 75|61.1| 20 | 100| 73|M16X60| 8 | 35 | 120 | 150 [124
gsw 2| | |HF-92106523|60 |210|298[139 |60 | 95|77.1| 22 | 128| 92 |M20X75| 8 | 44 | 140|170 [144
Y7
ft HF-9210-80-23|71 |250|338 (148 |71 |108]90 | 25 | 140|103 |M22x80| 8 | 44 | 155 | 175 [160
Lz
B e 1ro] B T Bonnet UL 0uTmHUER Z
AK—k T oy X3 -Ring Size Mass
R Model No. | eiagan il (CloT - il
) M W | h: | H [126a1268]126C|1260]126E] 126F |(Kg)
ot - } HF-9210-25-23| 50X 57.7 | M 64x2 | 15 | 140 | 70 | 255 | G35 |G 45| P20 | P32 | P15 | G45 | 17.5
L T 74— B
L ] Lo HF-9210-32-23| 55X 635 | M 76x2 | 19 | 160 | 81 | 290 | G40 |G 50| P24 | P38 | P18 | G50 |21.7
HF-9210-40-23| 70X 808 | M 90x2 | 23 | 180 | 95 | 330 | G50 |G 60| P30 | P44 | P20 | G55 | 315
HF-9210-50-23| 75X 865 | M100x2 | 25 | 200 | 108 | 365 | GO |G 75| P35 | P49 | P24 | GB5 |43
HF-9210-65-23 | 90x 104 M1156X2 | 29 | 250 | 127 | 413 | G75 |G 85| P40 | P55 | P25 | G75 |71.5
HF-9210-80-23| 95x 110 M120Xx2 | 31 300 | 135 | 450 | G85 [G100| P44 | P60 | P28 | G8O |91

29



¥ EE
= AT
Pressure Drop Property Chart

ST FEE32mme/sICHIF DRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

HF—9210—10—23

4PO15  4PO3POS 2Pt P2 AP3_4P4MPa
100 - \‘/{ 7 Y 1A
90 7 P03 7 7
c 8 1 ; VI p T
S 70 ! / / g 7
= 7 7 7 -
= i 7 ;
I S 60 7 ~p1
) yit d 7 v
o 50— /. g 7 -
2 o[ : .
R /s avar 7 : HF—9210—40—23
S 30 /l// — 7 // 7 Vi)
% 20 /4 ,' 7 . 4P015  4P03  4P0S 2P1 4P2MPa
7 - 100
10 = 7 - . - f 3
Hl 5 i} 90 T[ 7 1 i
0O 10 20 30 40 50 60 70 _BO 90 100 110 120 80 | / ! i
& L/min & S 4 . ; g
Flow Rate 570 7 7 7 p3
# 2 60 / f -
o P05, K 7
HF—9210—15—23 w AL e
g 40 " 7
4P0.154P03  AP05 L # JP3MPa T 30 ,’ . ,/
100 arD A T T % /
f f g 7 7 7
90 L{ / 7 7 2P0, NPt Vi)
oo I - ’ 1 7 i 7 7
i f 7 / 7 7
_S 70 i /i ! ! 0 100 200 300 400 500 6&0 700 8 0 900 1000 1100 1200
5 JH A I P 7z A& LUmin
i g 60 / } ;i f 7 Flow Rate
i v
50 7 . .
T o w© F— ; /
2 T2 7 ; HF—9210—50—23
£ 30 / 7 T
% 20 A s ; sPots  gPo3 ZPosiPa
10 i i o ’ & - F’{/L:V ! a—
/ 7 7 7 7 71
H I 90 T 7T 7
0 20 40 60 80 100 150 140 160 180 200 220 240 80 | 7 /
#_® L/min IS ., 7 TR
Flow Rate 570 7 5 Z
<3 }
#® = 60 7 AR AN
o 7 g g —
HF—9210—20—23 Eo ™ 4 i "
g 40 yi 5 = 7 T
4P0.15  APO3  4POS 4P1 4P2 4P3MPa T 30 1 // . ¥ - T
100 N T i 9 7 i
7/ Iy b T / By, & 20 . ANViTH <[ZP1 +
% 1171 ; Z W[ - ~ I
80 / / . -
c 7 7 i 7 2
2 70 / // ! L 5 ! 100 200 300 400 500 600 700 800 900 1000 1100 1200
=1 / ! P4 7 E = :
g —ans g R eow Rt
4 iy ' i -
' O f ;
B 40 ; : - . — —RAF—
g 177 , . HF—9210—65—23
T s A A / -
% 7 VK] Pl Vi)
20 17 7 7 > AP015  AP03 4P05 ZP1MPa
/i 7 7 100 Y Y/ 7 =
10 ~ - — / 7
_ — % 7
0 50 100 150 200 250 30(? 350 400 450 c 8o / 7
#_ 8 Limin S 7 » 7
Flow Rate 270 yi
2 6 . -
[ 7
HF—9210—25—23 =3 it :
5 40 ¥ / i
2p05 2P03  4POS ZPiMPa %I 30 - £ =
100 ~ - — T i
= 20
7 7 : i AZP05
90 ; 7 104 - A—]
80 - v 7
c g
=2 70 7 7 / P2 0 200 400 600 800 1000 1200 1400 1_600 1800 2000 2200 2400
2 / L i T 7 8 Umin
il = 60 7 ~ Flow Rate
fid / B %
Bg 7 , .
- %
g 7 z 7 - HF—9210—80—23
T 30 7 ya 7
o
% 20 7 ~7 — 42 - AL 4P0.15 AP03  4P0.5MPa
a 1
1042 > - 00 !
5 : - 90 7 T
0 50 100 150 200 é 0 309 350 400 450 c 80 / 2T
A&/ Limin S - -
Flow Rate =Ry p 7 7T
x © y T4P2
{Ln?:) 60 7 - >
HF—9210—32—23 B 5 / =
° 4 / 7 ZP:
€ 40 / v - Y
4P0.15 4P03 4P0S 2P1 4P2 4P3MPa T 30 - ,/ [
AR S B
100 ¥ ~ ST % “ 7
W i 7 , 20 P03 | ~JP05
- A / Rt g ]
580 i / v — ——~ - I I
5 70 1/ / L / < 0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
Wil A & Lmin
Q60 7 ? 7 ,« Flow Rate
& o 50 VA = - -
2 A ; -
c 7 % 7
§ 40 / v ~
J I A /
% 077 s 7 S Wi
2ol L T Vi3 7
I/ A2 4
10 L ! v
0 100 200 300 400 500 600 700 .800 900 1000 1100 1200
A&/ Umin
Flow Rate

30



WA HRTY MEFTYIRNYTINIT
Gasket Type Check Stop Valves

U 10, 20~ 32*, 50" D
Size EFIFUN

Model No. HG-6211

HMERES Z 5+ 4% Standard Specifications
Symbol
[ ot | REEREAD

N
—-v—<}—1><}—v— Max.Working Pressure €1MPa

¥ JULTEAMRIL b OU VI FIBEULET .
¥ BR

ZOIUVTIFRA by TINVT EF T v I )L T OEREZEFRQEA IcBD T, /\V R)LUEBEZEH
TNEF TV IV TEEDWRZHRLE LR T, /\> MUBEZ2EHAITNIFIERZDHELEL. i
BETRICHUS. Ay TIULTEFEDET,

Mounting bolts & O-ring included.
S ~ )49 : Characteristic:

77 J$/9Ejj 005M Pa This valve with both stop valve function and check valve function acts as a check valve to prevent backward
CrﬁCklng DreSSUFG-0.0E)MPa flow if the handwheel is shifted to “full open” . If the handwheel is shifted to “full close” , this valve acts as
a stop valve to prevent forward flow, too, and to close perfectly the passage.

X %

HG—6211

i o B & < & Mounting Dimensions
@ EFIFUN 10271~ Bolt
o ® & Moo ale e F el k|L | n]r P n [sosesalne
" D i HG-6211-10-25| 85| 70 |65 |50 |465|25 | 185|465| 10 |10 | o | mexas | 4
M He-6211-10025| 80 | 68 | 603 | 476 | 423|238 | 127|476 | 99| 102| 11 | wioxeo | 4
& - HG-6211-20-25| 113 | 97 |81 |65 | 538|325 | 128|588 |16 | 16 | 175 | Mi6X60 | 4
w PR T T o W
& R FRATDQ;TI\T c: b (JIS B 2401)
A A D|D |D:| S| T W | H [126A]1268 |126C 126D | (Ke)
Y Y x[ He-6211-10-25| 22 | 9 | 10 | 13 | 33 | a5 | a0 | 146 |p18 | G5 |P10 | P21 | 24
& S HG6211-10025| 28 | 14 | 14 | 16 | 46 | 45 | 80 | 151 |p2oa | G25 |P10 | P21 | 26
. ol gt HG-6211-20-25| 36 | 16 | 16 | 17 | 44 | 7 | 120 | 202 | G30 | G36 |P125| G265 | 68
P
.

B {4 < % Mounting Dimensions

EFIWFVIN

1027V bk Bolt
Model No.

A/B|E|F |G| K|L|N/|P/| h |FUkSze#HN.
HG-6211-32-24 | 127 | 127 R % | 4% 46 | 206 | 74| 175 | 215 | M20X100 | 4
HG-6211-50-24 | 180 | 160 | 140 | 120 | 8 | 60 |30 |110 |20 24 M22x120 | 4

LH®E H
Open H

m; | % L oYUV IHUES Be
=1,9~/) ¢ 1 0-Ring Size Mass
EFILFVIN ~f
Model No. t (JIS B 2401)
D|[D | S T W | H |126A|126B|126C|126D | (kg)
‘T HG-6211-3224 | 45 | 30 | 29 | 72 | 10 | 160 | 262 | G40 | GBO | P16 | G35 | 125
| ’ HG-6211-5024 | 65 | 48 | 31 | 90 | 15 | 250 | 361 | G60 | G75 | P22 | G40 | 295

_4-ghiEl
Holes.

31



ol 70 T4

Pressure Drop Property Chart

FFIEIFREE32mm?/sICHIF DIARMEEETT .

The following characteristic is a representative performance at viscosity 32mm?/s.

HG—6211—10—25

ENRETE
ressure Drop

R —
0 10 20 30 40 50 60 70 80 90 100

#_2 Lmin
Flow Rate

HG—6211—10J—25

ENRETE
Pressure Drop

=
o
[y

0 20 40 60 80 100 120 140 160
& Lmin

Flow Rate
HG—6211—20—25

1.0
0.9
0.8
m 807
=206
%;05
o 0.4

Heos — ]
MPa 0.2
0.1

0 20 40 60 80 100 120 140 160 180 200
& L/min
Flow Rate

HG—6211—32—24

ENKETfE
Pressure Drop

[eNeNoNe)

NN

@@=
w

<
n
o

=}
o

=

o
o

0 100 200 300 400 500 600 700 800 900 1000
#_2 Lmin
Flow Rate

HG—6211—50—24

=
5

<
N

=
w

\

ENRETE
o Pressure Drop

=
T
&
=

—

0 100 200 300 400 500 600 700 800 900 1000
A_ & L/min
Flow Rate

32




VN ISOIBFIVvIAMYTNILT
Flange Type Check Stop Valves

U 8°~80" = .
Size EFIVFIN

Model No. HF—6211

HMERES Z 5+ 4% Standard Specifications
Symbol
[ ot | REEREAD

IL%'_ Max Working Pressure 21MPa

% J5VIF, JIS B 2291SSARICEULFT,

% Flange types should be per JIS B 2291 SSA.

22vF2JFES1:0.05MPa
Cracking pressure:0.0oMPa

—6211—8~20—25

=

& HH

=l

28
Open H

ho
_ﬁ_l
> |=

| I

17
=

S0
C
7
-
+

=N o8
L T A
L P
[0 /% | &R Distance 7 S ¥ ¥ Flange 3 fz Bonnet % |I- 08%7 Wgﬁ% I;AEE
E7)LF )\ |Bore 3 AERIXHE Lt -Ring Size ass
Model No. 102:)L b Bolt ey i JIS B 2401)
d L|L |d| E F |G| A | B [BUdkSize#No.| T | ho | k M M P | C | W | H |126A|126B|126C|126D| (k&)

HF-6211- 825 [ 125 | 80 | 122 | 9 | 22 | 143 | 8 | 54 | 36 | MIOX3% | 8 | 21 | 74 | 45 36x404 M32x15 | 45 | 60 {30 | 100 | 136 | G5 | G25 |P10 | P21 | 38
HF-6211-10-25 | 125 | 80 | 122 | 125 | 28 | 178 | 9 | 54 | 36 | MIOX3H

8 |21 | 7| 4 36X404 M32x15 | 45 | 60 |30 | 100 | 136 | G265 | G256 |P10 | P21 | 37
HF-6211-15-25 | 16 90 | 132 |16 | 32 | 22| 11| 5 | 36 | MOX3H 8 |21 | 8 | 52 36X404 M32x15 | 6 60 |30 | 100 | 145 | G25 | G25 |P10 | P21 | 43
HF-6211-20-25 |20 | 100 | 142 | 20 | 38 |277| 12 | 58 | 40 | MI10X35 8

211 97 | 60 46X53.1 MAOX15 | 7 65 | 325 | 120 | 182 | G30 | G35 |P125| G25 | 52

33



HF—6211—25~

W

U E25D5E
In case of 25A

=P
HER |I~¢
£0g
? T
| o
n & J
(E- B
L T A
L P
4% | @ Distance 7 S Y ¥ Flange # %8 Body 3 fc Bonnet %ll- Og%ﬁﬂ?g_‘ﬁ% ﬁ%
EFJ)LF I\ (Bore N RERDXHE Lt -Ring Size ass
Model No. 10279V | Bolt Hovagon i (JIS B 2401)
d L |L do | E F G| A B |HUTESize [HNo.| T | ho | K M M C P | W | H [126A|126B|126C|126D| (k8)
HF-6211-25-25 | 25 135 | 189 | 25 4 | 345 14 | 68 | 48 M12Xx45 8 27 | 7% 0 | 41x473 MB0X2 9| 38 90 | 140 | 195 | G35 | G45 |P125| G25 | 102
HF-6211-32-25 | 315 | 150 | 204 | 315 | 56 | 432 | 16 | 76 | 5 M12Xx45 8 27 | 8 9% | 50x57.7 MB4x2 10 | 43 95 | 160 | 219 | G40 | G50 |P16 | G35 | 127
HF-6211-40-25 | 375 | 160 | 230 | 375 | 63 | 49.1| 18 | 92 | 65 M16X60 8 3B | % | 116 | 54x624 M76X2 13 | 50 | 15| 180 | 247 | G5O | G6O |P16 | G35 | 203

HF—6211—50~80

Y7k
Lift

—

Open H
25

2HBE HH

out - 7
@ _\ h
@ sy O
L] N
IN
b el
L
L
14 | @ Distance 7 5 Y Y Flange #f8Body| 5 fcBomnet  JL ogy_d‘u?ugjﬁ% B
E£5)LF I\ |Bore N AERIXHE Lt -Ring Size Mass|
Model No. 1020b f Bolt Nrgeon ! (JIS B 2401)
d | L|L |d|E|F|G|A| B |BUSESe|d| T | h | K M M W | H | H: |126A|126B|126C|126D| 126E | 126F |(ke)
HF-6211-50-25 | 475 | 175 | 245 | 475 | 75 | 611 | 20 | 100 | 73 | M16X60 | & | 35 | 110 | 130 | 67x724 | M 90X2 | 15 |200|274|170| G6O |G 75 | P48 | P20 | GO | G 85|375
HF-6211-6525 |60 | 210 | 298 |60 | 95 | 771 | 22 | 128 9| M20X75 | & | 44 | 120 | 150 | 71x82 MI00X2 | 22 |250|324(187| 675 | G 85 | P60 | P22 | G40 | G 95|578
HF-6211-8025 |71 | 260 | 338 |71 | 108 |90 | 26 | 140 | 103 | M22x80 | & | 44 | 140 | 165 | 77x889 | MI16X2 |27 |300|377|215| G85 | G100 | P71 | P24 | G45 | 6105|812

34




HF—6211—10—25

ENkETE
ressure Drop

S

Pa

coocoooo

0O 10 20 30 40 50 60 70 80 90 100

el EARE T

Pressure Drop Property Chart

HFIEIFREE32mm?/sICHIF DIARMEEETT . HF—6211—15—25
The following characteristic is a representative performance at viscosity 32mmé/s.

ENRETE
Pressure Drop
oo0oooo

OO N

| —]

=

)

o
ooo
= o w

0O 10 20 30 40 50 60 70 80 90 100

& & LUmin
Flow Rate

HF—6211—20—25

Sooo

EHRETE
Pressure Drop

SO
w

=
T
O

o
o

/

o

—
0 20 40 60 80 100 120 140 160 180 200

# 2 LUmin
Flow Rate

35



HF—6211—25—25

EHRETE

Pressure Drop

0 100 200 300 400 500 600 700 800
# & Umin
Flow Rate

HF—6211—32—25

EARETE
oooooo
w S OO N

Pressure Drop

=
o
»

o
o

0.1

0 100 200 300 400 500 600 700 800
&' L/min

HF—6211—50—25

< EAHKTE
o
o Pressure Drop

Peoeeoeoe=
SN WB D N®©OO

—
200 400 600 800 1000 1200 1400 1600 1800 2000

A 2 LUmin
Flow Rate

o

HF—6211—65—25

S
[

o
~

e
w

e
N

ENkET1E
o Pressure Drop

\

<
T

L —

0 100 200 300 400 500 600 700 800 900 1000

A & Umin
Flow Rate

Flow Rate
HF—6211—40—25
1.0
0.9
0.8
w807
=206
% 505
Eﬁm
03 —
MPa 0.2
0.1
0 100 200 300 400 500 600 700 800 900 100011001200

&' L/min
Flow Rate

HF—6211—80—25

e
5

o
~

e
w

e
o

ENKET1E
ressure Drop

]

=<
o

Iy
o

L

0 100 200 300 400 500 600 700 800 900 1000

& & Umin
Flow Rate

36




I NOS B e TN P

Modular Type Accumulator Stop Valves

FEUR 204, 324 e
Size EFIFUN

Model No. HGZ—-ACC

HEEES T {+4% Standard Specifications
Symbol
ACC =
. _ Hili!{% HIE B
r ] Max.Working Pressure 30MPa

|
L J

P DR
# JUVTEUGRIL - OU Y JFMIBEILE T,
¥ PEFILU—INDER DI TV IF M TARZEEERA T,
HGZ—ACC—20X 10—240Kx5E
ETRIL hEw FO56 OU > I 4XG30 i— hMEe 20
HGZ—-ACC—-32X10—240%K5E
ML EYFO73 OU Y J5 A4 XG40 IR— MEe 32
3% Mounting bolts & O-ring included.

% Please use the following connection flange to accumulator.
In case of HGZ—ACC—20X 10—23: Mounting bolts pitch - - - @156, O-ring size - - - G30, Port

size - - - 920
In case of HGZ—ACC—32X 10—23: Mounting bolts pitch - - - [O73, O-ring size - - - G40, Port
size- - - 32
HGZ—ACC—20X10—24 &£ Mass :6.0kg

EARMANYEN

MAIN VALVE "\

4-614 8L HOLES

B<0920 F216
0.C.B#20 DEPTH16
0

«

ACC #-+ PORT

o
g
S

120
8!
84

DR - PORT

4-M12 ®¥20 DEPTH20 P11 118

vl
] B
. -

;/ N 65 S _KUARARA K
AN RAN AN

—
| —
i
( Y7
5
emaz 565 | |o16)
OPEN 65

E Ll wzxroan

HGZ—ACC—32X10—24 &£ Mass :15.1kg

LARMAN YKL
AN VALVE o
/R /—\ﬁ =)
[ o | o
[P— = @
1374 28
G35 1 2
4-918 &L HOLES 100 s® 341 oz
490267224 73 e 5 &
0.C.8926 DEPTH24 H &
P|61f@./ “
M G40 118
;&Ef‘ B)
® S L
2 Ve paz 118§ - P #=F PORT
o 650 & (1% i
EEEN BE
N E il Ny
<0l < ) o
ml gl ~ o — i - P12 118
@_ ? (%) ok x-t port
I T -
e ACC %~ PORT Fs
u‘?
7 ~
4-M16 2226 DEPTH26 P11 1@(7 8
m (7 [
P18 18 ("2
\ DRAINHANDLE

(
]
j/if@ =

M16X110 47

110

60

37



I NO.S EEPE. L FINE P

Flange Type Accumulator Stop Valves

U 107, 20~ 32%, 40", 50"

Size EFILFUN L
Model No. HF—ACC

MEES K% {14 Standard Specifications
Symbol
: - =eERES
r 7 Max.Working Pressure 21MPa
| |
L J

¥ RUVAIICIFLSARIR AT SV I ZBHT CHD ET .

¥ meEAEH25MPall HEERDSZEE. FIEHER TS,

* Bk

® VFALU—IDTRE RNV YFRZ—EICL, DFSDUVEEZEEL T,
PHRALU—IOTEE FUVEZER/ULTICERIDIENTEET,

@ THIIROFDHREZDS., PF2LLU—FDMEROE(LZR/HET S ENT
ETFXI,

The drain line is provided with LSA type flange of special dimension.

In case of Max. working pressure of 25 MPa, please consult us.
Characteristic:

The root valve and drain valve of the accumulator are integrated to avoid
complex piping and to enables direct connecting of the accumulator root pipe
and drain pipe to this integral valve unit.

The root valve with throttle valve function can adjust variation of flow velocity
in the accumulator.

[ g

EF)LFVIND#ER Breakdown of model number
HF-ACC-3%x10-23

L =tEEE Design number
KL~ i—k X (mm) Diameter of drain port(mm)
TTER—MIAZ(mm) Diameter of main port(mm)

7% 1bL—27% Accumulator Stop Valves  BfH 757 Mounting Dimensions

Y BB 5
ARICBIFEBTI SV IEAEDSIFFU. ABRZEF1 L—
FICRGADTENTEETD,
COSVIILRLVER, DISVIICTERERLIEDE. 7
FaLU—FICEIONEB IS IV IREEZE LT
<fEE0N,
PLEICEDEDD THEBEILMEEICKLDEETCEFIN. CTTV
JFTDEDTEEHBARITTIEL ET. BIADS RUVEZEE
BIDTENTEFI, FEUU—THFOBRNZEERY D EEIR,
AESEVEE TR,
AR SIZEARRICIFN BB UF B A
ABTEDSAIFBEREIEREE L,

Txa1LL—4&
Accumulator

KL%
Drain pipe

¢ Explanation:
After dismounting B-flange in the right Figure from the valve
body, A-portion can be screwed in the accumulator.
After jointing the C-flange to the drain pipe and D-flange to the
root pipe respectively, connect them to the accumulator and
joint B-flange with the valve body.
Thus, the piping connection work can be done very simply and
C-flange enables the drain pipe to be jointed not only from
behind as illustrated in this Figure but also from vertical
direction and front direction. Furthermore, when mounting of
relief valve is required, please contact us.
The standard specification does not include A-portion.

In case of part of A included. please consult us. KL RNRIL

RN Handle of the drain valve
Handle of the main valve =
Main pipe

38



HF—ACC—10~32X10—23

W ERFBABNFI W
Main handle

FOEIRX100BE ([~ NN ~ f/ NN s N\
In case of 32X10
_Ea L A

Drain handle

: 1 —— @ TR2LL—SIEEF R
I H Accumulator port

B #H
Open H
3>
8

Ll
o
2B
il
S

MBX45 35
ak \ |
©e_en | © 0
. — //: -ﬁ\“ [ 8 ‘EI 58 ///:C-DN
ol |, o|][]— » i "2
o | S— > B
30 $10
“ 4178 @@ AL a LA
$28 oS Main port L T
RL A —t L L LSS HH, Li
Drain port = Open Hr
* [FOR10X10[F 75V IMUNFUE20X10EBUTT,
HORB2DFEREFETDEF T,
7 S5 Y Y Flange Og%_ﬁ‘ﬁgﬁv‘?—; £ 2
T X -Ring Size Mass
EFILFIN 102/R)L b Bolt (JIS B 2401)
Model No.
ds d- L L L. H Hs W | do E F G A B |HUWESize|$No.| T |126A/126B|126C|126D|126E|126F| (kg)
HF-ACC-10x 10-23 51 28 | 178 9 59
20 12 100 | 142 | 475 | 141 9% | 120 58 40 M10X35 8 21 | P125 | P125| G30 | G3% P20 | G30
HF-ACC-20X% 10-23 20 B | 227 | 12 58
HF-ACC-32x10-23 | 32 25 | 110 | 164 | 605 | 202 | 109 | 180 | 315 | 56 | 432 | 16 | 76 | 56 M12Xx45 8 27 | P20 | P125| GBS | G40 | P20 | G40 | 133

HF—ACC—40X10—23 &£ Mass :18.5kg

#160

EHFAANAIE \ A
Main hand wheel
G40 118
P18 118
g
2
2|8 L P32 1
Wl =
I |8 | N
Ges 1 T KL RERA AL HE M16X60 T Ge5 118 TR LSRR
Drain handle % Accumlator port
M10X55 = G50 208

T 7N - N
S | )

136
G30 1l
17.8 18 L
= : P125 1A TR
30 140 35 =

Main port

IS
&

9
o
ol

80
$37.5
$49.1

f -
N

=0

©
7Y
.

3p-

e
T|®
3

FL &R 2HSE #9114 210
Drain port Open 114

39



—11

BE&E Mass

ERBMANFLE

/ Main hand wheel

E3 4—M16X2,Fa27 P20 118 4—M16X2,RE27
g
£ § Depth 27 Depth 27
(’E § i i — G55 118
E|O T T —
H P20 118 KLBBAN AR THRLLL—ZERE—
Drain handle Accumulator port
MBX45 073
4x
)] @ F &) &
CER JIIN) M
H B g 8
5 @ - AP S L
°
- 2
44 $17.8 P40 11 TEERAE— 70 70 073
Main port
KL R - $28 49 49 P125 18 140 o
Drain port
66.5 LHES #9111
<

Open 111

EHFRAR A

/ Main hand wheel

IS
Fls
§|3
5k
o
B3
[ TEEHA
H H Main port
|
4—M22X2.5 8437 _Depth
1103 /————————ﬁ—
G25 118
| ;- DAL
M10X55 Drain handle
4K
\ K Y77
o
1@ | . )
12.5
A 7 - = 3
P11
oF - -
36 #17.8 P11 1A P18 1{f
54 307 | #28 69 69
KLt —h 8 SBIEA #9142 Open 142
Drain port 2SS #9135 Shut 135

$180

Y7h 15

G35 118
P16 118
G8o 118
P42 18l

4—M16X2,#&28 Depth
L4 T AL - SR

/ Accumulator port

' ©

#48
155

1N
N

\
v

o T o

40




VO ARy MEZ ¥ a2 LL—9H

Gasket Type Accumulator Stop Valves

U 10, 20~ 32%, 40"
Size

SSA type flange - -

HAG—10~40X10—FL

HMERS
Symbol

!

EFILFUN
Model No.

HAG—

JOULTBSAMIL . OU VI 3B LET,

TSV IRARSSATERDEE., BlE#EER P,
SSAK TSV IBMDGE. ETILFVIEKEDR "—FS" &EDFET,
U =D RNHEEDHEFFIEEER TS0,
Mounting bolts & O-ring included.
In case of type of flange is SSA, please consult us.

- End of Model number is
In case of type of the valve with relief valve, please consult us.

1Z#/14 Standard Specifications

mefEAEN

Max.Working Pressure

25MPa

g

M 30

T2 AL —SEH N 0
‘Accumulator port \f N vé

Z-Z%4% Draw

oL [T

T
o M n/

E‘@

z

4

4-ghiiL Holes

s
iy

—

W

2F& ¥V Open V

B ¢ < % Mounting Dimensions 7 S5 ¥ ¥ Flange
EFILFUN N :
el N 102ARL b Bolt 102B7R)L b Bolt
A B © D | De E F G h |MOE Size | % No.| ¢ K L M N P HOHE | %
HAG-10X 10-FL 125 8 | 178
0 | 125 | 68 20 1 7 19 65 14 M12X 105 4 €0 45 M10X60 4
HAG-20x 10-FL 2 B | 27| 12
HAG-32x 10-FL 120 | 150 | 88 % 16 2 | 3 ” 18 M16X 130 4 315 | 56 63 5% | 432 | 16 M12X80 4
HAG-40x 10-FL 130 | 10 | 98 34 16 0 | 3 % 18 M16X 130 4 315 | 6 7 63 | 491 18 M16x95 4
UL OUVHIREVES =
EFIF YN ,? i O-Ring Size Mass
Model No. t (JIS B 2401)
do d H Q R S T u \ W | 126A | 126B | 126C | 126D | 126E | 126F | (kg)
HAG-10X 10-FL 107
20 21 % 16 4 & 18 87 7 315 120 630 P20 63% P12 P22 630
HAG-20X 10-FL 104
HAG-32x 10-FL 2 31 45 18 54 58 % 10 N 387 160 G40 P20 645 P20 P32 Gl | 214
HAG-40x 10-FL 3 37 5 0 64 58 % 105 0 417 160 650 P20 650 P20 P38 G50 | 25

41




ol FE770 T4
Pressure Drop Property Chart

ST FEE32mme/sICHIFDIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

COT—HIESSAE TSV VBN ZRLE T,

HF—ACC—20X10—23 HAG—20X10—FS
1.0
0.9 0
0.8 L 0.9
a 07 2038
o @ =
25 o6 007
o g S 0.6
% 2 0e R 205
HE 04 H 804
x o
& 03 03 e
MPa M
0.1
0.1 -
—
T G e 0 100 200 300 400 500 600 700 800 900 1000
# B Lmin &/ Umin
Flow Rate Flow Rate
HF—ACC—32X10—23
HF—ACC—32X10—NS—11 HAG—32X10—FS
1.0
9 e -
s Es
85 06 507 i
@ @ 206
R 309 R 305
g 04 8 04
2 03 0.3
MPa I Gp
0.1 0.1
0 wn mm mn 4 5w 0 200 400 600 800 1000 1200 1400 1600 1800 2000
& 2 L/min & & LUmin
Flow Rate Flow Rate
HF—ACC—40X10—23 HAG—40X10—FS
1.0 1.0
0.9 0.9
E‘;el o wd o8
f- ° X }L% 0.
# 3 0.6 g 2 0.6
K2 05 R 205
Ho g4 Hoo4
Mpa 03 S 03
2 MPa 42
0.1 03
O D @ SO D WD G A0 0 200 400 600 800 1000 1200 1400 1600 1800 2000
& 2 L/min % B Umin
Flow Rate Flow Rate

HF—ACC—50X10—NS—73

-
® © o

EHETE
Pressure Drop

=
nel
Iy

cooooooo
= NDWhHOO N ®©

o

200 400 600 800 1000 1200 1400 1600

A ® Lmin
Flow Rate

42



- W =YL T RURABHRE. HRAT Y M

Gauge Valves Threaded Type+*Gasket Type

U 82 10°
Size

EFILFUN
Model No.

GV—

MEEES K% {14 Standard Specifications
Symbol
=eERES
M Max.Working Pressure 21MPa

EF)LF > I\#ER Breakdown of model number

GV-G22G-N

—E =y VR Z#(t#% No code:no lock nut
\VERRERS Ow 7w MMd N:with lock nut

5L R UIAHE No code:threaded type

——— G HAT v ME G:gasket type

22---[0#% Vs Bore /B
83[”%3/8 Bore %:B

G ANHEMRDHZE G:globe type

GV—G22G HEE Mass :0.8kg

56

(L =

M18X1.5

I, ~m2ex30

1 “|” Hexagon
0 N
1
~ HH
AE P9 21

& #995 Open 95
& %993 Close 93
I

s
=

3
2
59

5| <
5
o 122|122
M5X40
4% .
A(%}«\~ ¥ O

3[%

18

50

@

~

11
SLLE N
25 ; 4-45.518L Holes

*) UL TESTARIVS, OUV T I3HBEHLE T,

*Mounting bolts & O-ring included.

A--RNDEADEZE Aangle type
(fere L. AR w ME7ZBR<)  (except for gasket type)

—G,A% % EE Mass :0.4kg

@
>

M18X1.5

~
IS
>
sy E ) 8

& #986 Open 86
& 84 Close 84

AA26X30 .
Hexagon | ]| o
© i
ui g % % P5 11

28

22.5

Rc 1/4,3/8
H O Outlet

Re 114,318
HO Outlet

AH Inlet

/B

4

Rc 1/4,3/8
A Inlet

U ERAT—/MUUIS B 0203.RcaL)HE T,
*Taper thread coupling type (Rc) should be per JIS B 0203.

43




1V osWA EAETAY VIS R UAHR

Damper For Pressure Gauge Threaded Type

FEU®R 8~ 10° > .
EFILFUN

Size
Model No.

Z3# {14 Standard Specifications

Max.Working Pressure

¥ BEERQUE. 2RAMELD—BERLWNTHEEL TR,

% Turn the adjusting screw by one turn maximum from the
full close position.

¥ OUVIME : svoFIA

% O-—ring materials : FKM

GD—RXXx—T

| < | &
Phin Pin
\'% %
S & << | &
ﬁ E e uﬁ £ <
Hexagon Hexagon
== P3 1A 3 P31
RA B RA

$0e— 1 | e .

= n-léf 1{* iﬁgg == N §§?

=t L—YJ s QI -

leE > £ leE 5 .
D 26 D 26
59 59
g 2
EFILF VI Mass EFILF VN Mass
Model No. Model No.

A B D E F (kg) A B D E (kg)
GD-G02-T 1 1y 15 15 14 0.25 GD-RO2-T s 1y 15 "5 025
GD-GO3-T 3g 3 18 12 16 025 GD-RO3-T 3 3 18 12 0.25

GD—G03 &E& Mass :0.25kg GD—R03 &£ Mass :0.25kg .

@ | D > > |
Vi M A
£ % a N
>l (& ]
0 m‘x
] k|E 17
;és L AL
Hexagon
e 3 P3 1A
oo G
) sy
w 4 <
< ) = S
m = £ Fr— Rlag
<Tffess T 7B
|
2 2
Re%
1 2 18 2
5 50 3 50

44



VOk —— RILIKILT RBUAHRS. HARAT Y M
Needle Valves Threaded Type-+*Gasket Type

FEUR 8~ 10, 15° S
Size EFIFUN

Model No. GN 3% — 3% 3%

HMERES K% {14 Standard Specifications
Symbol
) =
- || TSR 35MPa
Iy o — . 1 Max.Working Pressure
N L 7

¥ QUIAHEDIEE, CGRIYDEEHLET.
¥ ARy MeDBE, JULTRMARIL S OUVIEHNBEEULET.

% In case of threaded type , manufacturing G threaded type.
% In case of gasket type , mounting bolts & O-ring included.

GNG—02 &£ Mass :1.1kg

50

Mg~
<
Bl L Al MeX40
g6 57
& Al | (A
w
T
x i | 0
#3 P11 8 J

I y
Ll Tl G
d #15 415
E:E :r% fﬁ‘f 8.8 333
& | —_ M
“ o | 0 ) - 204 _
= € P 7<f4 B Hexagon .
e 3 o I
e S -
~ - (} 3 J [ Ei'}
Red Red 2z i b (&
AN N 2 @B
= B 8 NS Qﬂ 4-46.638L Holes
L DA Paxy dy
E;i
GNT—2X % —L
uL U/ | &R
EFILF VN |7~ : 4 [Mass
Model No. t
d|L|d|da|A B M W | hi | hz2 |H|126|(kg)
GNT-02 Ve | 50 | 3 |M 8|24 | 24x27.7 | M20x15 | 4 | 50 | 36 | 48 | 83| P 7 |04

GNT-03 o | 55| 5 [M8| 27| 24x277 | M20X15 | 6 |50 | 36 | 48 | 83| P 7 045
GNT-04 Yo | 65| 7 |MI0| 32 | 32X37 | M27x15 | 8 | 65 | 44 | 60 105 P10 |0.7

. ; ¢ UL vy |ER
2. 85 g R EFILFUN {1 142 Mess
rﬂ% §. T - » 735 B Hexagon Model NO t
28— g u diL|d|d|A|l B M W | h | he |H|126|Ke)
. - 2 2 8 toragen GNT-02-L | |25 | 3 [ms] 24 | aaxern [waoxis | 4 [ 50| a6 | 48 [ &3] P 7 04
<l mE|E
H h S GNT-O03-L | % |275] 5 |M8| 27 | 24x277 | woox15 | 6 | 50| 36 | 48 | 83| P 7 |05
- I = faa) GNT-04-L | 7. |%256] 7 [mi0] 32 | 32xa7 | werxi5 | 8 |65 | 44 | 60 |108] Pio |07
#d <\E‘ \N W ¢
- f DN Rt
L CA
Red

45



i 3

7——

T EE O

Flow *Pressure Drop Curve

ST FEE32mme/sICHIFDIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

GNT—02—L
NCRIVEEEE—FIER S5 AP Differential Pressure
30Handle Revolution-Controlled Flow Curve

ZP4MPa
| AEaEe

25

AP2
| At

i)
& 20
H | 2Pt

y
/

— 4P0.3

//_ﬁ

15

L/min 19

| =2

W/
=

0 1 2
JNCRIVEIERER, @
Handle Revolution

a

GNT—03—L

INRIVEERE—FIER R AFE AP Differential Pressure
Handle Revolution-Controlled Flow Curve

60
o 50
€ 40

= 4P2
3

\gP4MPa

)

L 30 / 2Pt
L/min g

10 / — ] 4P0.3

o 1 2 3 4
JNCRIV[EIERE B
Handle Revolution

GNT—04—L
NCRIVEERE—FIER 45 AP Differential Pressure
Handle Revolution-Controlled Flow Curve
120

N_ZP4MPa

100
@

mlﬂ|§ 80
L]

z
2 60
N
7 T kP03

20%
0 1 2 3 4 5

JNCRIVEIERE, @]
Handle Revolution

L/min 49

GNT—02
NRIVEERE—FIERE 45 AP Differential Pressure
Handle Revolution-Controlled Flow Curve
0 4P4MPa
/K
o 15 4pP2
e 3 [—
=3 10 | AL
w
Limin / £P03
i
0 1 2 3
JNCRIVEIERE, B
Handle Revolution
GNT—03
INCRIVEEH—EI i 845 AP Differential Pressure
Handle Revolution-Controlled Flow Curve
50 4P4MPa
%
40 —
2 4P2
L |«
¢ 3 30 AP1
55 /'A/—
L/min 20 P03
10 4
/
0 1 2 3
NR)VEIERE, E
Handle Revolution
GNT—04
NCRIVEERE—FIER 245 AP Differential Pressure
Handle Revolution-Controlled Flow Curve
AP4MPa
80 4
2 L—1 4P2
LK o
z 60 A
R o — =
e L
L/min & | —1 /AP—OS
20
/
0 1 2 3 4 5|
INCRIVEERZEL, [F
Handle Revolution
GNT—02~04

B —FE TR T AR (£ 5RS)

Flow-Pressure Drop Curve (at Full Open)

a 2.0 T T
@ g ,LGNT-O2 { ent3
9 15
g S
R 210
AR < GNT-04

a 05 / /
MPa -

0 10 20 30 40 50 60

& & L/min
Flow Rate

GNT—02~04—L

GNG—02

FER—ENRE T (2FRF)
Flow-Pressure Drop Curve (at Full Open)

2.0
a I /
@ o GNT-02-L
be |/
2 5 10 GNT-03-L
= £ 05 / GNT-04-L
MPa /

0 20 40 60 80

A& & LUmin
Flow Rate

NCRIVEERE—FIER 45 AP Differential Pressure

Handle Revolution-Controlled Flow Curve

25
20

4MPa
, 4P4MPa

15

10

/_L

0

5%

1 2
NRIVEERE, B
Handle Revolution

GNG—02
TR —ENRET I (28
Flow-Pressure Drop Curve (at Full Open)

a 2.0
m 2
TG

g ® 15

R210
H o

o 0.5
MPa

0 5 10 15 20
& & LUmin
Flow Rate

46




- Wl ARy MNEF Ty OR
Gasket Type Check Valves

U 10, 20~ 32*, 50" D
Size EFIFUN

Model No. HGC—-4211

HMERES Z 5+ 4% Standard Specifications
Symbol
IN ouT %E{%ﬁﬁ& 7]
Max.Working Pressure 21MPa

¥ JULVTESAMRIL b QU JI3HMBEHLET.
¥ REERAEN2E5MPafllfEADBEFETILF VIV "HGCZ-4211" ZEEE RS,

% Mounting bolts & O-ring included.
% Max. working pressure of 25 MPa - - - Model number is "HGCZ-4211" .

I2vF2JEF1:0.1MPa
Cracking pressure:0.1MPa

HGC—4211—10,20—23

e
== i ! I PR B ff ¥ % Mounting Dimensions
2 KN BT M) MT’d INJ 027U - Bolt
4 == | == odelNo. | o | g |E|F|c|k|L|N|P|n [Reesemn
126 !
A ‘ - i HGC-4211-10-23 | 8 | 70 | 65 | 50 | 465 |25 | 185|465| 10 | 9 | M8X50 | 4
HGC-4211-20-23 | 113 | 97 | 81 | 65 | 538 | 325 | 128 | 588 | 16 | 175 | M16X60 | 4

M
1<S .
=
—
| -

out

° JL ‘%ﬂ\ 0UVITH = [ R |
= < e L HOx3ig | QUYIHUES | B
« N St 4 Hevagon | BSB8SS acs
ModelNo. | p |p, |p.|H | t|s | T M |126A1268] (ke)
__.@ @9 o o Hec4211-1023 | 22 | 9| 10 | 69| 45| 13 | B | 36x416 | P8 | 625 | 25
_E} {\ ) HGC-4211-20-23 | 35 | 16 | 16 | 100 | 7 17 1 44 | 46x531 | G30 | G35 | 45
L]
E P 4-ghifiL Holes
A

HGC—4211—32,50—23

[N
e = n n n
Litt — N B f& < & Mounting Dimensions
EJ / "TNJ " 027U - Bolt
i Ey: = T T odelNo. | o | g |E|F |6 |Kk|L|N|P|n [mvEseEn
] - HGC4211-3228 | 127 | 127 | 92| 92| 46 | 46 | 206 | 714| 175 | 215 | M20X100 | 4
126 : 7
J [ J HGC4211-50-23 | 180 | 160 | 140 | 120 | & | 60 |30 |110 |20 |24 | Me2xio0 | 4
/I: $D: $D= i\ @ lL
IN_~ ¢D #D ouT. -
- S ebS UL AENDXE | 0UYIRUES | EE
@ & ErLT 7] Hexagon | GRS |Mass
MEsEIND, | g | o | e |["¢] o | T M [126A]1268] ke)

f\\ o Hoc42113223 | 45 | 30 | 147 | 10 | 29 | 7 | soxs77 | 640 | s | 119
\ U

K} A HGC-4211-60-23 | 65 | 48 | 182 | 17 | 31 0 67X774 | G6O | G75 | 22
1</

N 4-ghiL Holes

47



HGC—4211—20—23

1.0
0.9
Q
w 508
TZD 0.7
w2 06
R 3 05
Ho 04
o 03 L
MPa 0.2
0.1 ]
0 20 40 60 80 100 120 140 160 180 200

A& & Umin

ol EARE T

Pressure Drop Property Chart

FFIEIFREE32mm?/sICHIF DIARMEEETT . HGC—4211—32—23
The following characteristic is a representative performance at viscosity 32mm?/s.

=
® © o

ee
o N

ssure Drop

ENETE

o 04

0 100 200 300 400 500 600 700 800
& & LUmin
Flow Rate

HGC—4211—50—23

=
~

EHRETE
Pressure Drop
o
w

e
S

<

o

»
=

0 100 200 300 400 500 600 700 800 900 1000
A& & Lmin
Flow Rate

48



VN TS IEFIvIINILT
Flange Type Check Valves

FU®E 10°~80"

Si EFIFUI
Ize ModelNo.| HFC—4211

MEES 1ZE# 4144 Standard Specifications
Symbol
IN ouT %E{%ﬁﬁ& 7]
Max.Working Pressure 21MPa

% J5VIF, JIS B 2291SSARICEUFT,
¥ mREFEAEH2EMPaflERDSEE. EFILFV/NHFCZ-4211" 71
EE RS,

¥ Flange types should be per JIS B 2291 SSA.
¥ Max. working pressure of 25 MPa - - - Model number is "HFCZ-4211" .

I5vx>JFEF1:0.1MPa
Cracking pressure:0.1MPa

HFC—4211—10~20

7 3 ¥V Y Flange g

EFLF VI - Mass
" ode! No. 1027RIL ~ Bolt

= — D E|F |G| A| B |HUPESzHN| T |ke

. « HFC4211-10 | 125 | 28 | 178 | 9 | 5 | 36 | Mwx3® | 8 | 21 | 37

our_= HFC-421115 |16 | 32 |22 | 11 | 5 | 3% | Mox3® | 8 | 21 | 37

{;* @\ HFC4211-20 |20 | 38 | 277 | 12 | 88 | 40 | Miox3 | 8 | 21 | 48

J f/an)
W \% %

Fy O | @ Distarce | U L RERIXAA QUVIHUES

= <~ I O-Ring Size

EFLFV)¢ (Bore hf Ak IS B 2401)

o = Model No. t

. T o D|L|L ClH|K N P |126A/1268

- - HFC4211-10 | 16 | 90| 132 | 6 |30 | 65 | 62 | 36x416 | 60 | G5 | G25

HFC4211-15 | 16 | 90 | 12| 6 |30 | 65 | 52 | 36x416 | 60 | G5 | G5

HFC-4211-20 | 20 | 100 | 192 | 7 |325| 80 | 60 | 46x531 | 65 | 630 | G35

IFOR10E. TSV IBNIFURISEA—TT,

HFC—4211—25~80

_ . 7 35 ¥ Y Flange =1
ETILT LI 1027)L -~ Bolt s
Model No.
D | E| F |G| A | B |HFUFESize $iNo| T |(kg)
. HFC421125 |25 | % 35| 1 | 68| 8| wiexds | 8 | 2 | 8
HFC421182 | 315 | 56 | 432 | 16 | 7 | 6| Mixés | 8 | 27 | 114
— HFC421140 375 63 | 491 | 18 | 9% | 65| Miex@0 | 8 | & | 12
: P HFC421160 | 475 | 7 | 611 | 20 | 100 | 73 | wiex@0 | 8 | 3 | 235
o HFC421165 |60 | 9 | 701 | 22 | 128 | % | weoxs | & | ¢4 | 96
@m HFC421180 |71 | 108 |90 | 25 | 140 | 103 | wexa0 | & | 44 | 566
= J "4 N %N L UV IRUE
4 i ! FERHIXH VIRUES
- — Ly W) EFLIVU (Dol é; Noason ORing Size
] o ModelNo. | o | | |, | tlc|m|Kk| N [726n]1288
. : e HFC421125 | 2 | 135 | 189 | 9 | 8 | 94| 90 | 41X 43 | 6% | 6%
. o HFC421132 | 315 | 160 | 204 | 10 | 43 | 104 | 9 | 50x 677 | G40 | 6 50

HFC-4211-40 375|160 | 230 | 13 | 50 | 116 | 115 | B4x 624 | G50 | G 60
HFC-4211-50 475 | 175 | 246 | 17 | 57 | 132 | 130 | 67X 774 | G60 | G 75
HFC-4211-65 60 | 210 [ 298 | 2 | 70 | 147 | 150 | 77X 889 | G | G &
HFC-4211-80 71 | 250 | 338 ] 23 | 78 | 191 | 165 | 95x110 G865 | G100

49



ol FE770 T4
Pressure Drop Property Chart

ST FEE32mme/sICHIFDIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

HFC—4211—15 HFC—4211—40
1.0 1.0
0.9 0.9
5 08 o 08
w © 0.7 el © 0.7
=206 =206
% 505 % 505
@ 0.4 o 0.4
ME03 Me o3
MPa 0.2 MPa 0.2
0.1 1
0 20 40 60 80 100 120 140 160 0 100 200 300 400 500 600 700 800 900 1000
& 2 L/min & & LUmin
Flow Rate Flow Rate
HFC—4211—20 HFC—4211—50
1.0 1.0
0.9 0.9
0.8 0.8
Q Q
@ 907 m 9 0.7
=206 =206 =
g 5 05
= 2 8'3 22 0.4 —
8 1%} B
Moo, He s
MPa 02 — MPa 0-2 =
0.1 =] 0.1
0 20 40 60 80 100 120 140 160 180 200 0 100 200 300 400 500 600 700 800 900 1000
& L/min & & Umin
Flow Rate Flow Rate
HFC—4211—25 HFC—4211—65
1.0 0.5
0.9
208 o 04 -
@ 0.7 @9
906 =203
% 505 % 5
A § g.g ‘ﬂ§ 0.2 —
! —
MPa 0.2 ————+ MPa 0-1
0.1
|
0 50 100 150 200 250 300 350 400 450 500 0 100 200 300 400 500 600 700 800 900 1000
& B Lmin A 2 LUmin
Flow Rate Flow Rate
HFC—4211—32 HFC—4211—80
1.0 0.5
0.9
0.8 0.4
@ 80.7 @ 8
=906 =203
# 505 85
K204 R 202 ]
H o H o L
& 03 2 ———
MPa 0.2 MPa 0.1 =
0.1
I
0 100 200 300 400 500 600 700 800 0 100 200 300 400 500 600 700 800 900 1000
& B Lmin A 2 LUmin
Flow Rate Flow Rate

50



VORIl IS VIBA MY TINILT
Flange Type Stop Valves

U 100%,125%, 150" » .
Size EFIFUN

Model No. HF—4213

HMERES Z 5+ 4% Standard Specifications
Symbol

e EAEN
‘N_ Max Working Pressure eMPa

% 75V IUREBBHRIEDBEFREREER TS,
Y FiR
FEFENINS Y AEE T\ RURENES T,

% Where flange bevel of special dimension is required, please instruct
the detail separately.

¥¢ Characteristic:
This valve has the merit that it is easy for you to operate the handle
even in the case of high pressure, as it has the function of internal
pressure balance.

0—23 &E Mass :152kg HF—4213—125, 150—23

ABB7 T YR ER R

" $355

U7h25

P90 118
Lift I

G110 11

SREFH
Open H
Lit
2!

G110 1

/" Ge52(A w

A

LHBE #9362
Gpen 362

\

$80
#90.4
#1143

LT o)
0 L | 4D
2 L — ]
30° [}
P90 1@
60
320 108 176
536 240
[0 & | & f Distance 7 S5 ¥ Y Flange g ||- O'é‘qu?'ﬂ?g_'gv‘% ;]
I Bore -Ring Size  |Mass
ot 1027 b Bolt i (JIS B 2401)
) d L L, do E F G A B |MUA Size |$INo.| T D W ho H [126A|126B|126C| (k&)
HF-4213-125-23 108 | 450 726 | 108 11171 1398 | 138 306 248 M30X 115 16 7 360 37 550 | 287 502 | P125 | G165 | G120 | 512
HF-4213-150-23 130 | 580 | 876 | 1288 | 1333 | 1652 | 148 330 270 M30x 125 16 80 380 50 550 | 350 633 | P145 | G190 | G140 | 728

51



- Al RFYLABR IS IRA MY TINILT

Stainless Steel Stop Valves

HFUE 8*~80"
s £7 31t | H=4211-%-23-AS]

Model No. [ HF-421185-%%-23-311

JHERS
Symbol
Y Z#{t4% Standard Specifications

-l > }— REeERED
Max.Working Pressure 21MPa

% JTVUIE. JIS B 2291SSARICEUFET ., (ME SUS304)
¥ FFARIFRLE CHEERRRLE T,

% (EEPH —MEVRRENHICCHEVTEIW . —RIDHERIEEDHLS
SUKTHERSNSHBE1F AR T,

Flange types should be per JIS B 2291 SSA. (SUS304)

Please confirm the details of the specifications.

Available fluid:Mineral hydraulic oil

When using the above valves with hydraulic fluid other than
general mineral oil series and water, please feel free to contact us
for further information.

HF—4211—8~15—23—AS1

HF—4211SS—8~15—23—311

& #JH: Shut Hs

&

2R354 #9H Open H

w
|
|
E
%

T50I9547
Flange Type : |
I ’ L_ s E{
|G B
T A

HF—4211—20—23—AS1 &£ Mass :5.7kg HF—4211—25~80—23—AS1
HF—4211SS—20—23—311 HF—4211SS—25~80—23—311
$120
W
§ g M40X15 g E; _L
&le ] t_I_ Y 8|é v
% - “ —— I L af i
# S H‘s Bk
= g
H— :F S = 9 f—
1 t? !
<1_2)
100 21 L
142 65
[ Distance 7 S5 ¥ ¥ Flange 3 Tz Bonnet 2
EFILFVIN ) T Mass
el o TR Hoegn St e ot "ﬁ’e%géjﬁg
L L D E F G A B | BU%Size [ No.| T N M P W H Hs ho K c | ka)
HF-4211- 8-23-AS1 80 | 122 9 22 | 143 8 54 36 M10X35 8 21 36x404 M 32X15 60 80 | 128 | 120 66 - 30 43
HF-4211-10-23-AS1 80 | 122 | 125 28 | 178 9 54 36 M10X35 8 21 36x404 M 32X15 60 80 | 128 | 120 6 | — 30 43
HF-4211-15-23-AS1 P | 132 |16 3R | 222 " 54 36 M10X35 8 21 41x473 M 38X 15 60 120 | 154 | 146 7% - 30 48
HF-4211-25-23-AS1 | 135 | 189 | 25 45 | 345 14 68 48 M12x45 8 27 41x473 M 60x2 - 120 | 191 182 7% 0 3 106
HF-4211-32-23-AS1 | 150 | 204 | 315 56 | 432 | 16 76 56 M12x45 8 27 50x57.7 M 64x2 - 160 | 214 | 204 8 % | 43 | 132
HF-4211-40-23-AS1 | 160 | 230 | 375 63 | 491 18 R 65 M16X60 8 3% 54X62.4 M 76x2 - 160 | 229 | 216 9% | 115 | 50 | 210
HF-4211-50-23-AS1 | 175 | 245 | 475 7 | 611 | 20 100 73 M16X60 8 3% 67x774 M 90x2 — | 200 | 277 | 260 | 110 | 130 | 57 | 285
HF-4211-65-23-AS1 | 210 | 298 | 60 % | 71| 22 128 R M20X75 8 4 71x82 M100x2 — | 300 | 324 | 302 | 120 | 150 | 70 | 480
HF-4211-80-23-AS1 | 250 | 338 | " 108 | 90 25 140 | 103 M22x80 8 4 77x839 M115x2 — | 300 | 370 | 343 | 140 | 165 | 78 | 646

¥HF—421188— %% —23—-31 1DXBEWARF. LELHERDE—TA XCEUET,

52



DR A7V LRAERAR T Y MER MY TINLT

Stainless Steel Stop Valves

HUR®R 8°~50" o
Size EFILFVN
Model No.

HG-4211-%3%-23-AS1

JHERS
Symbol
Y 1Z#/14 Standard Specifications

~{ > }— REeERED
Max.Working Pressure 21MPa

s JUVTESAMRILES - OUVTIRMBERULE Y.

¥ AN ABICRER < FRAERE T,

# EEPH —RIDHREDHICTHEV TV, —MRENHREENHSY
SUKTHERSNSHBE1F AR T,

% Mounting bolts&O-ring included.

% Either port of the stop valve can be used as inlet or outlet.

% Available fluid:Mineral hydraulic oil
When using the above valves with hydraulic fluid other than
general mineral oil series and water, please feel free to contact us
for further information.

HG—4211—8—34—AS1 &£ Mass :1.6kg

N IZR—)URES (AR wBUS) 547
Gasket Type

HG—4211—10—23—AS1 &£ Mass :2.5kg HG—4211—20—23—AS1 &£ Mass :5.4kg

SREY 92005

HG—4211—32—23—AS1 &£ Mass :12.9kg

HG—4211—50—23—AS1 &£ Mass :27kg

SREE 1250
snRE 0327

?E_
ﬁ %0
| =
—
| —

)

N

1o \ 4-s2¢my
2|

53



- WVoRl X5 L 2 ESSHERRUAHRER by TINLT
Threaded Type Stainless Steel Stop Valves

FUE 8°~25"
Size

EFILFUN
Model No.

HT-1211-3%:

JBERS
Symbol Z3# {14 Standard Specifications

—i > }— SaEREN

M);xmorking Pressure 21MPa
¥ AU, BR7—/M0 (JIS B 0203,Rcfal) KT,
¥ (EEPH  —MEDHRENHICTHHEVTEV —RIDERIEEPAUN UK THERASNSHBE(E BIETHER T,
% Taper thread coupling type (Rc) should be per JIS B 0203.

% Available fluid:Mineral hydraulic oil
When using the above valves with hydraulic fluid other than general mineral oil series and water, please feel

free to contact us for further information.
[ 13
t I

Pressure Drop Property Chart

Y EFEEI2mm/sIC BT BIRRMEET T,
The following characteristic is a representative performance at viscosity 32mm?/s.

HT—1211—8-10—23—ASH1

HT—1211—3% % —23—AS1

1.0 —
Q09 [T T
@ g o8 -
=5 @07 !
¥ 5 0.6
w . R % 05
Lﬂg 8.431 i -
Jul ’@. MPa 0.2—————% |
( ) j 01— — i
0 10 20 30 40 50 60 70 80 90 100
& & Umin
[ ] Flow Rate
M
)z T"/v HT—1211—15—23—ASH1
10
i - P e s 7
£ ' @20+ 1 | | |
Aoz g 0.7— |
¥ 5 0.6 - |
R 2 0.5 L
'ﬂ}_’ 8’f" —t
- ——al I D 1
< ° MPa 0.2}—— K : [
0.1 T : T T T ‘ —]
N 020 40 60 80 100 120 140 160
& & Umin
L Flow Rate

HT—1211—20—23—ASH1

Of2 | 3 Tz Bonnet 2 Q(1).O -
E£5)LF )¢ |Bore|Distence RERIXHE Mass i"ég 0.
Model No. Hexagon 5}; ® 8.7
Zz|L|D| WM M |ho|W|H|H|C |ke) R 205
H o 04
HT-1211- 823-AS1 | 14 | 80| 30 | 36X404 | M32x15 | 66 | 80| 128 | 120 | 25 | 13 MP& 83
a 0.2
HT-1211-10-23-AS1 | %% | 80| 30 | 35x404 | M32x15 | 66 | 80| 128 | 120 | 25 | 13 0.1
0 50 100 150 200 250 300

HT-1211-1523-AS1 [ %2 | 90| 38 | 41x473 | M38X15 | 76 | 120 | 184 | 146 | 31 | 20 - = )

& 2 Lmin

HT-1211-20-23-AS1 | % | 110 | 46 | 46x53.1 | MAOX15 | 88 | 120 | 172 | 162 | 38 | 33 Flow Rate

HT-1211-25-23-AS1 [ 1 | 125 | 53 | 50x57.7 | Ms0x15 | 93 | 160 | 185 | 174 | 45 | 52
HT—1211—25—23—AS1
0.1'8
@ 8 03
=3 0.7
¥ 5 0.6
R 205
H @ 0.4
a 0.3
MPa 0.2
01
0 50 100 150 200 250 300 350 400

& & Umin
Flow Rate

54



EFIFINDOERE B Configuration of model number (ex.)

(Rhy Z NIV T DIBE  In case of stop valves)

W-HFD-4211-K-20-23
1%&%@%

Design number

OR
Size
BRABMICLDXD TS BL  ZELAK
Type of place No code Standard
K ............ EQFE}MJ}H
For outdoor
Do FREBA RS — U

With dust seal
ROBEICLBDXD — 4217 - ST NIV T
Type of valve construction cast iron stop valve
FEMBICELBDED 5B - ZELAF
Main material type | No code Standard

Lo NORA SR (SER)
Spheroidal graphite iron castings (High pressure type)
D B4 ) iEskE

Spheroidal graphite iron castings
BEMFBERICELDED TF 250 IF
Coupling type Flange type
T RCAHE
Threaded type
G HRIT YN
Gasket type

—— BRABICLBIX Y —H - HERB
Type of use For hydraulic use

BRAREICLBIXD TS50 — —RIASHRIEENH
Type of fluid used | No code Normal mineral oil type hydraulic oils

Fo UYVEE T RT)VRIEENH
Synthetic hydraulic oils
W KBIEEEND

Water based hydraulic oils
TREDERBICDEZL T BIEHAXOI A CHEHRL THYEFITOTIBB T,

The catalogue for the following product is available. Please refer to it if necessary. Valves of special specification

o XTFFUZRNIVT 20V, ROVRVF TV oIV T o L AuNIVT e@EEU -2\
Maintenance valves Throttle-throttle stop valves with check  Prefill valves Direct relief valves
MV =X HT—7283U—X HIPF (D) ¥U—X HRV—X
JMV Series HT—728 Series HIPF (D) Series HRV Series
MY VA=A EVE=7g9d -2 O TEHRIER N T/ VT e 06EV25—/WWT
RMVSY—= HT—930vU—=% Solenoid-operated stop valves 06 Modular valves
RMV Series HT—930 Series HSOYU—X FMU—X
N HG—72031—x HSO Series FM Series
. — . N —_ 2 <
g\an ’valves HG—720 Series HEE s ./ =) HOVhFTyoF
BVS—= o1 oA FvoNIT ein NN Nonleak pilot operated check valves
BV Series In-ine check valves oI NEMI ) HMPC (D) /U —=
HBV—TYU—% HTICS) — 2 Flow divider-frow divider/combiner HMPC (D) Series
HBV—T Series HTIC Series EB\)SUe;eXs‘ OB RS ERFH
HB\/—GF‘\/U*.X‘ HIC=FJyy—=x f r _ ff |
HBV—GF Series ng—EjjSéries FDCYU—X Ovoe;sl\\/o,\jviiye cut-off valves
Hgggysu—_z‘ HTICZ—YU—2 FDC Series SEEVSGU%
eries —Seri COKYY—X DU
HTICZ=Series OK Series OF3V Seriss

FD
FDC
BRI R SRERMEROMELRUEITOTHEREE TS, FOPS—X

Various valves of special specification are avaiable at option. Please feel free to contact us for any inquiry.

PR ik

Series

MBI IM AN T INIVT
Carbon Steel Flange Type Stop Valves

DIyR Ry FARARNTINIVT S EBRER Ny T INIVT
Stop Valves With Limit Switch § Cylinder Operated Stop Valves

* CNSBERHBICETBIRIEMBR TS0,

55 * Please request us separately the information related to these hydraulic products if you need it.



N U

D) BB SN TLEHKRXSA
At -T35 #ZE R Z Rt F Il BT 436 TEL 0749(23)2020()
T522- 0033 F A X 0749(23)2027%

AR ER = 2Rl TEL 0749(23)5450%
a1l HEEERMELEBH2-34 TEL 0749(23)2036()
T522-0082 F A X 0749(23)2037%

RRE¥F REHAEXZAPI2-4-1 1IZUMIEIL TEL 03(3437)0011(%)
T105-0012 F A X 03(3437)0013%

ABREFEF ARTIAXERE7—20FLUE/LHE TEL 06(6312)2412()
T530-0052 FAX 06(6316)1236%

U R L http: //www . hirose-valves.co.jp
E-mail info@hirose-valves.co.jp

Hirose Valve Industry Co., Ltd.

Head Office & Plant:

436, Serikawa-cho, Hikone, Shiga-ken, Japan

TEL +81-749-23-2020~5 FAX +81-749-23-2027

Chubu Office:

TEL +81-749-23-5450

Yasukiyo Plant:

2-34, Yasukiyo-cho, Hikone, Shiga-ken, Japan

TEL +81-749-23-2036 FAX +81-749-23-2037

Tokyo Office:

Izumi Bldg., 1-4-2 Chome, Shiba-daimon, Minato-ku, Tokyo, Japan
TEL +81-3-3437-0011~2 FAX +81-3-3437-0013

Osaka Office:

Shin Hozan Bldg., 20-7 Minami Ohgimachi, Kita-ku, Osaka, Japan
TEL +81-6-6312-2412~3 FAX +81-6-6316-1236

1706C



